
* *  Ersatzteilpreisliste LifeStand 2016 - Österreich  * *
                                                  (Version 1, Änderungen und Druckfehler vorbehalten)

Verkaufspreis Verkaufspreis

exkl. MwSt inkl. MwSt

311694 LIFESTAND LIGHT CABLE 111,24€           133,49€           

314519 LINK ADJUSTMENT LSR KID 7,41€               8,89€               

314797 BRACKET THIGH SUPPORT 11,27€             13,52€             

314894 LINK BRACKET LSR KID 20,71€             24,85€             

315427 PLASTIC PLUG 11X40 0,51€               0,61€               

317026 LINK BRACKET 25MM LSR KID 9,44€               11,33€             

317244 CONNECTOR BATTERY FLIPOVER 81,71€             98,05€             

317278 FLIPOVER JOYSTICK 1.385,48€        1.662,58€        

320028 LIGHT FRONT LED 128,14€           153,77€           

320690 KNEEPAD BAG 104,80€           125,76€           

320691 BACKREST REINFORCEMENT KIT 289,78€           347,74€           

320692 SPINERGY KIT 26" FOR HELIUM  WITHOUT WHEELS 278,67€           334,40€           

320705 LSR BATTERY 12V 2AH 37,30€             44,76€             

320749 ARMREST PLATE 62,98€             75,58€             

321235 BRACKET ADJUSTMENT LG250 13,70€             16,44€             

321236 CUSHION VISCO 280X250 LSR KID 121,04€           145,25€           

321237 CUSHION VISCO 280X280 LSR KID 121,04€           145,25€           

321238 CUSHION VISCO 280X320 LSR KID 121,04€           145,25€           

321239 CUSHION VISCO 320X320 LSR KID 121,04€           145,25€           

321240 CUSHION VISCO 320X360 LSR KID 121,04€           145,25€           

321241 CUSHION VISCO S36X35x7 121,04€           145,25€           

321243 CUSHION VISCO S36X47x7 121,04€           145,25€           

321244 CUSHION VISCO S36X53x7 121,04€           145,25€           

321248 CUSHION VISCO S40X53x7 121,04€           145,25€           

321251 VISCO CUSHION S44X53X7 121,04€           145,25€           

321253 CUSHION VISCO S48X53x7 121,04€           145,25€           

321254 FRICTION PLATE WHEELFORK FRICTION PLATE WHEELFOK 16,75€             20,10€             

321258 FRONT LIGHT SUPPORT 13,50€             16,20€             

321261 STICKER UPPER CB02 LSR KID 5,02€               6,02€               

321262 UPPER BOX ELECTRONIC LSR KID 46,49€             55,79€             

321263 LOWER BOX ELECTRONIC LSR KID 46,49€             55,79€             

321264 STICKER LOWER CB02 LSR KID 5,53€               6,64€               

321265 COVER BACKREST RIGHT 29,33€             35,20€             

321266 COVER BACKREST LEFT 29,33€             35,20€             

321286 HOLDER TUBE KNEEREST LSR KID 196,00€           235,20€           

321287 SHAFT HOLDER KNEEREST LSR KID 29,08€             34,90€             

321290 TUBE ADJUSTMENT KNEEREST LSR KID 199,09€           238,91€           

321291 TUBE KNEEREST LSR KID 107,74€           129,29€           

321320 SPACER Ø20/Ø13.5X4 LSR KID 7,56€               9,07€               

321321 SPACER Ø20X12.1X10 LSR KID 5,84€               7,01€               

321322 SPACER Ø20/Ø12.1X46.5 LSR KID 14,67€             17,60€             

321353 HUB BRACKET REAR WHEEL 6° LSR KID 106,68€           128,02€           

321368 WORKTABLE LSR KID 211,37€           253,64€           

321373 LEGREST TUBE EXTENDER +25 LSR KID 32,68€             39,22€             

321386 WORK TABLE KIT 445,84€           535,01€           

321389 HUB BRACKET REAR WHEEL LSR KID 78,97€             94,76€             

321390 BRACKET YUBE REAR WHEEL LSR KID 82,72€             99,26€             

321392 BRACKET BRAKE LSR KID 28,22€             33,86€             

321393 BRACKET BRAKE 2 LSR KID 26,44€             31,73€             

321400 RING ACTUATOR LSR KID 92,67€             111,20€           

321401 RING PISTON LSR KID 89,22€             107,06€           

321402 RING ACTUATOR AXLE LSR KID 35,27€             42,32€             

321403 ACTUATOR AXLE LSR KID 25,83€             31,00€             

321467 KIT UNITRACK FOR LSCO KIT BRACKET ADJUSTMENT LSCO 30,75€             36,90€             

321475 MONOBLOC FOOTPLATE S36-14" 671,22€           805,46€           

321476 MONOBLOC FOOTPLATE S38-15" 671,22€           805,46€           

321477 MONOBLOC FOOTPLATE S40-16" 671,22€           805,46€           

321478 MONOBLOC FOOTPLATE S42-17" 671,22€           805,46€           

321479 MONOBLOC FOOTPLATE S44-18" 671,22€           805,46€           

321480 MONOBLOC FOOTPLATE S46-19" 671,22€           805,46€           

321482 LEFT FOOTPLATE BRACKET FOR NEW CARBON FOOTPLATE 17,86€             21,43€             

321484 RIGHT FOOTPLATE BRACKET FOR NEW CARBON FOOTPLATE 17,86€             21,43€             

321496 ADJUSTMENT TUBE BRACKET LSR KID 91,55€             109,86€           

321499 HINGE Ø25X2 Ø14 LSR KID 24,36€             29,23€             

321505 KIT UNITRACK FOR LSCO KIT BRACKET ADJUSTMENT LSCO 30,91€             37,09€             

321508 LEGREST TUBE LEFT LSR KID 31,67€             38,00€             

321509 LEGREST TUBE RIGHT LSR KID 157,68€           189,22€           

321510 PLATE BRACKET FOOTPLATE LSR KID 41,36€             49,63€             

321511 FOOTPLATE LSR KID 37,20€             44,64€             

321522 SEAT FRAME LSR KID 532,52€           639,02€           

321525 ACTUATOR SUPPORT TUBE BRACKET LSR KID 152,30€           182,76€           

321527 PLATE HINGE LSR KID 19,29€             23,15€             

321528 PLATE DETAIL LSR KID 56,94€             68,33€             

Art. Nummer Beschreibung 1 Beschreibung 2

Seite 1 von 29



* *  Ersatzteilpreisliste LifeStand 2016 - Österreich  * *
                                                  (Version 1, Änderungen und Druckfehler vorbehalten)

Verkaufspreis Verkaufspreis

exkl. MwSt inkl. MwSt
Art. Nummer Beschreibung 1 Beschreibung 2

321532 BACKREST TUBE VERTIC. RIGHT LSR KID 178,74€           214,49€           

321534 TUBE SEAT LSR KID 45,68€             54,82€             

321535 TUBE BRACKET BACKREST LSR KID 105,92€           127,10€           

321536 BACKREST TUBE VERTIC. LEFT LSR KID 178,74€           214,49€           

321539 HORIZ. BACKREST TUBE LSR KID 175,90€           211,08€           

321544 SPACER Ø20/Ø12XØ8.2X69.5 LSR KID 14,16€             16,99€             

321546 SWITCH COVER BACKREST LSR KID 81,25€             97,50€             

321547 BACKREST PLATE HOLDER RIGHT LSR KID 31,16€             37,39€             

321548 BACKREST PLATE HOLDER LEFT LSR KID 31,16€             37,39€             

321549 BACKREST PIN LOCKING LSR KID 22,84€             27,41€             

321550 HEAD SUPPORT PLATE FOR CUSHION LSR KID 51,71€             62,05€             

321554 SPACER Ø11.8XØ8.2X2X20.5 LSR KID 9,14€               10,97€             

321555 UPPER PUSHBAR LSR KID 139,92€           167,90€           

321556 LOWER PUSHBAR LSR KID 163,11€           195,73€           

321558 ARMREST TUBE LSR KID 60,54€             72,65€             

321559 SPACERØ16/Ø11.8XØ8.2X13.5 LSR KID 7,31€               8,77€               

321560 SPACER Ø11.8XØ8.2X7.1 LSR KID 6,55€               7,86€               

321562 ARMREST INNER TUBE LSR KID 89,32€             107,18€           

321571 KIT FRONT LIGHT LED (LIGHT+BRACKET+FIX+CATA) 136,82€           164,18€           

321573 KIT LIGHT R-NET LSCO BACKCOVER+LIGHT+INDI+LIGHT CAB 810,43€           972,52€           

321574 KIT LIGHT R-NET LSC3 BACKCOVER+INDI+LIGHTS+LIGHT CA 822,56€           987,07€           

321575 BACKREST EXTENSION  Ø20mm LSR KID 30,55€             36,66€             

321577 ARMREST STOP LSR KID 34,15€             40,98€             

321578 ARMREST NUT LSR KID 94,75€             113,70€           

321579 KIT BACKREST COVER LSR LSR 215,23€           258,28€           

321582 BACKREST PLATE SEAT SUPP. LEFT LSR KID 34,15€             40,98€             

321583 BACKREST PLATE SEAT SUPP. RIGH LSR KID 33,65€             40,38€             

321584 PLATE SEAT STOP LSR KID 19,79€             23,75€             

321586 KIT LOWER SEAT LSR KID 1.468,71€        1.762,45€        

321619 PCI BOARD+WIRE LSR KID 222,94€           267,53€           

321620 SEAT ADJUSTMENT LSR KID 105,51€           126,61€           

321621 ELECTRONIC WIRE PART 1 LSR KID 73,28€             87,94€             

321622 ELECTRONIC WIRE PART 2 LSR KID 41,21€             49,45€             

321623 SUPPORT PLATE LSR KID 34,76€             41,71€             

321625 SEAT FRAME COVER LSR KID 53,64€             64,37€             

321629 SEAT COVER 28-30 LSR KID 210,36€           252,43€           

321630 SEAT COVER 32-34 LSR KID 224,72€           269,66€           

321631 KIT ELECTRONIC BOX + BATTERIES LSR KID 520,49€           624,59€           

321632 KIT BACKREST TUBES LSR KID 983,94€           1.180,73€        

321634 KIT LEFT ARMREST LSR KID (without foam) 290,09€           348,11€           

321636 KIT HEADREST LSR KID 300,19€           360,23€           

321647 KIT SECURITY STAND-UP LSR KID 251,16€           301,39€           

321648 KIT SECURITY RELAX LSR KID 262,12€           314,54€           

321649 BRAKE ARM LSR KID 17,71€             21,25€             

321651 BRAKE BRACKET 1 LSR KID 28,57€             34,28€             

321658 ARMREST NUT RIGHT SIDE ARMREST NUT RIGHT 96,17€             115,40€           

321659 ARMREST NUT LEFT SIDE ARMREST NUT LEFT 96,17€             115,40€           

321663 KIT RIGHT BRAKE LSR KID WHEEL POS 1,2,3,4,5,6 +7(22") 168,54€           202,25€           

321671 KIT UPPER SEAT TUBE LSR KID 76,63€             91,96€             

321672 KIT LEFT BRAKE LSR KID WHEEL POS 1,2,3,4,5,6 +7(22") 168,54€           202,25€           

321673 KIT KNEEREST LSR KID 539,73€           647,68€           

321681 AXLE TUBE ARMREST ALL WHEELCHAIR 95,41€             114,49€           

321682 KIT FOOTPLATE LSR KID 175,44€           210,53€           

321683 KIT BACKREST EXTENSION LSR KID 52,88€             63,46€             

321686 KIT WHEELFOR+FORK LEFT LSR KID 235,53€           282,64€           

321766 KIT TRUNK SUPPORT LSR KID 199,55€           239,46€           

321773 KIT REAR CROSSTUBE LSR KID 580,94€           697,13€           

321774 KIT FRONT CROSSTUBE LSR KID 394,02€           472,82€           

321784 KIT WHEELFORK+FORK RIGHT LSR KID 253,19€           303,83€           

321788 STICKER SCHEME CB02 LSR KID 6,19€               7,43€               

321795 SANDOW COVERS (PAIR) LSR KID 68,92€             82,70€             

321889 KIT WHEELFORK'S FRICTION DISCS LSCO (PAIR) 36,54€             43,85€             

321905 SECURITY WIRE ACTUATOR LSR KID 39,89€             47,87€             

321931 FOOTPLATE BRACKET SUPPORT LSR KID 17,41€             20,89€             

321938 SPACER FRONT WHEEL LSR KID 4,16€               4,99€               

321940 PANELHOLDER PARALLEL MOTION TUBE PANELHOLDER 28,67€             34,40€             

321943 PANELHOLDER LEFT FOR PERMOBIL PARALLEL MOTION 51,77€             62,12€             

321950 PLATE BRACKET BRAKE LSR KID 22,79€             27,35€             

321957 BLUE CHASSIE SEAT FRAME LSR KID 109,21€           131,05€           

321964 KIT 22" WHEELS FLYULTRALIGHT LSRKID 619,40€           743,28€           

321965 KIT FRONT WHEEL 4" 81,81€             98,17€             

321967 KIT WHEEL FLANGE FOR 22" WHEEL LSR KID 157,83€           189,40€           

Seite 2 von 29



* *  Ersatzteilpreisliste LifeStand 2016 - Österreich  * *
                                                  (Version 1, Änderungen und Druckfehler vorbehalten)

Verkaufspreis Verkaufspreis

exkl. MwSt inkl. MwSt
Art. Nummer Beschreibung 1 Beschreibung 2

321968 RED CHASSIE SEAT FRAME LSR KID 106,63€           127,96€           

321969 PINK CHASSIE SEAT FRAME LSR KID 112,11€           134,53€           

321970 YELLOW CHASSIE SEAT FRAME LSR KID 112,26€           134,71€           

322058 BLACK ARM FORK LEFT LSR KID 69,53€             83,44€             

322070 RIGHT SPRING LSR KID 12,99€             15,59€             

322071 BLACK ARM FORK RIGHT LSR KID 69,53€             83,44€             

322073 LEFT BRAKE SPRING LSR KID 12,99€             15,59€             

322076 KIT BACKREST CROSSTUBE LSR KID 843,67€           1.012,40€        

322079 BAR PUSHBAR LSR KID 53,49€             64,19€             

322080 SLIDE BAR FOR PUSHBAR LSR KID 60,24€             72,29€             

322081 KIT PLATE LSR KID 107,18€           128,62€           

322088 SPACER Ø16xØ12x17 LSR KID 10,61€             12,73€             

322092 BRACKET REAR LSR KID 148,95€           178,74€           

322100 CLAMP TUBE LEFT LSR KID 47,76€             57,31€             

322101 CLAMP TUBE RIGHT LSR KID 47,76€             57,31€             

322107 KIT PUSH BAR LSR KID 224,57€           269,48€           

322114 FORK AXLE Ø15 46,84€             56,21€             

322120 KIT LEFT BRAKE LSR KID FOR WHEEL POS 7(20") 177,42€           212,90€           

322121 KIT RIGHT BRAKE LSR KID FOR WHEEL POS 7(20") 177,42€           212,90€           

322123 KIT RIGHT ARMREST LSR KID (without foam) 290,09€           348,11€           

322124 KIT BATTERY LSR KID 68,87€             82,64€             

322134 KIT BRACKET BRAKE LSR KID 52,07€             62,48€             

322135 KIT KNEEREST NUT LSR KID 99,42€             119,30€           

322137 KIT ACTUATOR LSR KID 596,57€           715,88€           

322140 KIT 20" WHEELS LSRKID 510,29€           612,35€           

322165 Knee-support lug spindle 16,39€             19,67€             

322166 Knee-support rocking lever spindle 12,08€             14,50€             

322167 Knee-support rocking lever spindle 2 7,11€               8,53€               

322168 Knee-pad rocking lever 51,21€             61,45€             

322169 KNEEREST ROCKING LEVER KIT LSA 215,23€           258,28€           

322172 BRACKET ADJUSTMENT LG105 6,39€               7,67€               

322173 KIT BRACKET ADJUSTMENT LSCO DEEP 41 cm 30,75€             36,90€             

322175 KIT UNITRACK LSR / LS-E LG.250 30,75€             36,90€             

322216 LIFESTAND LIGHT CABLE VR2 LSC3 146,72€           176,06€           

322256 SUPPORT PLATE RIGHT / LEFT TRUNK SUPPORT LSR KID 38,82€             46,58€             

322257 PANELHOLDER RIGHT PARALLEL ARMREST DISC 51,77€             62,12€             

322259 KIT FRONT WHEEL 5" 77,55€             93,06€             

322305 CUSHION PLATE THORACIC SUPPORT LSR KID 35,73€             42,88€             

322317 SUPPORT PLATE LEFT / RIGHT TRUNK SUPPORT LSR KID 19,39€             23,27€             

322344 Kit fork axle LSCO REINFORCED VERSION 330,48€           396,58€           

322349 L-TUBE WORKTABLE LSR KID 110,43€           132,52€           

322350 I-TUBE WORKTABLE LSR KID 27,56€             33,07€             

322354 ELECTRIC HARNESS POWER MODULE R-NET LSC3 117,94€           141,53€           

322357 ELECTRIC HARNESS POWER MODULE R-NET LSCO 43,19€             51,83€             

322358 ELECTRIC HARNESS POWER MODULE VR-2 LSC3 134,74€           161,69€           

322362 SUPPORT PLATE WORKTABLE LSR KID 25,83€             31,00€             

322431 BRACKET ABDUCTION BLOCK LSR KID 39,23€             47,08€             

322460 NUT WORKTABLE LSR KID 54,56€             65,47€             

322462 VR-2 LIFESTAND LIGHT CABLE LS LIGHT CABLE + VR-2 CONNECT 169,30€           203,16€           

322546 KIT ALUMINIUM FRAME BLACK (1 SIDE) 905,58€           1.086,70€        

322547 test (1 SIDE) 929,28€           1.115,14€        

322548 AA (1 SIDE) 911,01€           1.093,21€        

322549 KIT ALUMINIUM FRAME CHROME (1 SIDE) 934,71€           1.121,65€        

322550 KIT ALUMINIUM FRAME WHITE (1 SIDE) 905,58€           1.086,70€        

322551 KIT FIXATION UPPER SEAT (1 SIDE) 37,20€             44,64€             

322552 KIT FIXATION REAR WHEEL AXLE (PAIR) 1,47€               1,76€               

322553 KIT UPPER FRONT CROSS TUBE SIZE 36 CM 614,94€           737,93€           

322554 KIT UPPER FRONT CROSS TUBE SIZE 38 CM 614,94€           737,93€           

322555 KIT UPPER FRONT CROSS TUBE SIZE 40 CM 616,66€           739,99€           

322556 KIT UPPER FRONT CROSS TUBE SIZE 42 CM 616,66€           739,99€           

322557 KIT UPPER FRONT CROSS TUBE SIZE 44 CM 673,81€           808,57€           

322558 KIT UPPER FRONT CROSS TUBE SIZE 46 CM 653,76€           784,51€           

322559 KIT FOOTREST ROCKING LEVER (UNIT) 25,27€             30,32€             

322560 KIT LOWER FRONT CROSS TUBE SIZE 36 CM 634,73€           761,68€           

322561 KIT LOWER FRONT CROSS TUBE SIZE 38 CM 634,73€           761,68€           

322562 KIT LOWER FRONT CROSS TUBE SIZE 40 CM 636,41€           763,69€           

322563 KIT LOWER FRONT CROSS TUBE SIZE 42 CM 636,41€           763,69€           

322564 KIT LOWER FRONT CROSS TUBE SIZE 44 CM 693,60€           832,32€           

322565 KIT LOWER FRONT CROSS TUBE SIZE 46 CM 673,45€           808,14€           

322566 KIT SEAT-DEPTH RUNNER-TUBE 111,75€           134,10€           

322567 KIT UPPER SEAT TUBE LUG 32,02€             38,42€             

322568 KIT UPPER SEAT FRAME SIZE 36 CM 538,31€           645,97€           

Seite 3 von 29



* *  Ersatzteilpreisliste LifeStand 2016 - Österreich  * *
                                                  (Version 1, Änderungen und Druckfehler vorbehalten)

Verkaufspreis Verkaufspreis

exkl. MwSt inkl. MwSt
Art. Nummer Beschreibung 1 Beschreibung 2

322569 KIT UPPER SEAT FRAME SIZE 38 CM 538,31€           645,97€           

322570 KIT UPPER SEAT FRAME SIZE 40 CM 542,57€           651,08€           

322571 KIT UPPER SEAT FRAME SIZE 42 CM 542,57€           651,08€           

322572 KIT UPPER SEAT FRAME SIZE 44 CM 545,66€           654,79€           

322573 KIT UPPER SEAT FRAME SIZE 46 CM 533,38€           640,06€           

322574 KIT LOWER SEAT TUBE LEFT 608,90€           730,68€           

322575 KIT LOWER SEAT TUBE RIGHT 608,90€           730,68€           

322576 KIT STAND-UP LOCK 32,89€             39,47€             

322577 KIT GRIP HANDLE CROSS TUBE SIZE 36 CM 394,38€           473,26€           

322578 KIT GRIP HANDLE CROSS TUBE SIZE 38 CM 345,15€           414,18€           

322579 KIT GRIP HANDLE CROSS TUBE SIZE 40 CM 345,15€           414,18€           

322580 KIT GRIP HANDLE CROSS TUBE SIZE 42 CM 400,57€           480,68€           

322581 KIT GRIP HANDLE CROSS TUBE SIZE 44 CM 351,04€           421,25€           

322582 KIT GRIP HANDLE CROSS TUBE SIZE 46 CM 382,71€           459,25€           

322583 KIT BACKREST SAFETY LOCK 17,41€             20,89€             

322584 KIT LEFT SIDE HUB 417,67€           501,20€           

322585 KIT RIGHT SIDE HUB 417,67€           501,20€           

322586 KIT BACKREST HOOK 114,14€           136,97€           

322587 KIT ARMREST TUBE 78,76€             94,51€             

322588 KIT ARM LOOP LEVER RIGHT 294,55€           353,46€           

322589 KIT ARM LOOP LEVER LEFT 294,55€           353,46€           

322590 KIT BEND LEVER ROD RIGHT 89,27€             107,12€           

322591 KIT BEND LEVER ROD LEFT 89,27€             107,12€           

322592 KIT GRIP HANDLE JOINT CRANK 33,65€             40,38€             

322593 KIT FOOT PLATE SIZE 36 CM 682,08€           818,50€           

322594 KIT FOOT PLATE SIZE 38 CM 682,08€           818,50€           

322595 KIT FOOT PLATE SIZE 40 CM 682,08€           818,50€           

322596 KIT FOOT PLATE SIZE 42 CM 682,08€           818,50€           

322597 KIT FOOT PLATE SIZE 44 CM 682,08€           818,50€           

322598 KIT FOOT PLATE SIZE 46 CM 682,08€           818,50€           

322599 KIT FOOTREST TUBE RIGHT 179,96€           215,95€           

322600 KIT FOOTREST TUBE LEFT 179,96€           215,95€           

322601 KIT UPPER LUG FOOTREST 30,55€             36,66€             

322602 KIT BRACKET FOOTPLATE RIGHT 13,75€             16,50€             

322603 KIT BRACKET FOOTPLATE LEFT 13,75€             16,50€             

322606 "KIT FRONT WHEELS 6"" (PAIR)" 217,01€           260,41€           

322607 KIT FOOTREST EXTENSION (PAIR) 90,84€             109,01€           

322642 SPACER Ø10XØ8,1X6,1 STEEL 15,63€             18,76€             

322653 KIT SEAT-DEPTH RUNNER-TUBE 111,75€           134,10€           

322686 KIT SPACER KNEEREST (ALL TYPE) LSA 9,24€               11,09€             

322693 KIT ARMREST COVER LSR KID 50,14€             60,17€             

322694 KIT LIGHT VR-2 LSC3 BACKCOVER+INDI+LIGHTS+LIGHT CA 863,71€           1.036,45€        

322696 KIT PUSH BAR COVER LSR KID 38,98€             46,78€             

322709 KIT PLATE+VELCRO WORKTABLE LSR KID 214,47€           257,36€           

322710 KIT L-TUBE+VELCRO WORKTABLE LSR KID 110,48€           132,58€           

322714 KIT NUT WORKTABLE LSR KID 102,72€           123,26€           

322715 KIT I-TUBE+PLASTIC CAP WORKTABLE LSR KID 26,34€             31,61€             

322779 KIT HIP/THIGH SUPPORT LSRKID 143,88€           172,66€           

322780 PLATE HIP/THIGH SUPPORT 21,37€             25,64€             

322823 KIT FIXATION REAR WHEEL AXLE (PAIR) 21,82€             26,18€             

322824 KIT LEFT FRAME BLACK 140,98€           169,18€           

322825 KIT LEFT FRAME BLUE 164,68€           197,62€           

322826 KIT LEFT FRAME RED 140,98€           169,18€           

322827 KIT LEFT FRAME GREY 146,46€           175,75€           

322828 KIT RIGHT FRAME BLACK 140,98€           169,18€           

322829 KIT RIGHT FRAME BLUE 164,68€           197,62€           

322830 KIT RIGHT FRAME RED 140,98€           169,18€           

322831 KIT RIGHT FRAME GREY 146,46€           175,75€           

322832 KIT FRONT CROSS TUBE SIZE 36 CM 152,91€           183,49€           

322833 KIT FRONT CROSS TUBE SIZE 40 CM 152,91€           183,49€           

322834 KIT FRONT CROSS TUBE SIZE 44 CM 154,74€           185,69€           

322835 KIT FRONT CROSS TUBE SIZE 48 CM 154,74€           185,69€           

322836 KIT FRONT CROSS TUBE PLATE LEFT 29,03€             34,84€             

322837 KIT FRONT CROSS TUBE PLATE RIGHT 29,03€             34,84€             

322838 KIT UPPER SEAT LUG 26,09€             31,31€             

322839 KIT UPPER SEAT DEPTH RUNNER TUBE 47,35€             56,82€             

322840 KIT UPPER SEAT SIZE 36 CM 317,19€           380,63€           

322841 KIT UPPER SEAT SIZE 40 CM 317,19€           380,63€           

322842 KIT UPPER SEAT SIZE 44 CM 317,19€           380,63€           

322843 KIT UPPER SEAT SIZE 48 CM 317,19€           380,63€           

322844 KIT LOWER SEAT TUBE LEFT 129,87€           155,84€           

322845 KIT LOWER SEAT TUBE RIGHT 129,87€           155,84€           

Seite 4 von 29



* *  Ersatzteilpreisliste LifeStand 2016 - Österreich  * *
                                                  (Version 1, Änderungen und Druckfehler vorbehalten)

Verkaufspreis Verkaufspreis

exkl. MwSt inkl. MwSt
Art. Nummer Beschreibung 1 Beschreibung 2

322846 KIT LOWER SEAT BLOC LEFT 192,95€           231,54€           

322847 KIT LOWER SEAT BLOC RIGHT 192,95€           231,54€           

322848 KIT LOWER SEAT DEPTH RUNNER TUBE 48,97€             58,76€             

322850 KIT BACKREST CROSSTUBE SIZE 36 CM 138,85€           166,62€           

322851 KIT BACKREST CROSSTUBE SIZE 40 CM 138,85€           166,62€           

322852 KIT BACKREST CROSSTUBE SIZE 44 CM 138,85€           166,62€           

322853 KIT BACKREST CROSSTUBE SIZE 48 CM 138,90€           166,68€           

322854 KIT BACKREST TUBE RIGHT 157,38€           188,86€           

322855 KIT BACKREST TUBE SHORT RIGHT 144,54€           173,45€           

322856 KIT BACKREST TUBE LONG RIGHT 144,54€           173,45€           

322857 KIT BACKREST TUBE LEFT 157,38€           188,86€           

322858 KIT BACKREST TUBE SHORT LEFT 137,94€           165,53€           

322859 KIT BACKREST TUBE LONG LEFT 144,54€           173,45€           

322860 KIT ARMREST NUT RIGHT 90,23€             108,28€           

322861 KIT ARMREST NUT LEFT 90,23€             108,28€           

322864 KIT ARMREST FIXATION (UNIT) 10,91€             13,09€             

322865 KIT CASING 1,32€               1,58€               

322866 KIT HEADREST 165,19€           198,23€           

322867 KIT WORKTABLE BRACKET LEFT 19,84€             23,81€             

322868 KIT WORKTABLE BRACKET RIGHT 19,84€             23,81€             

322869 KIT SIDE HUB BRACKET 28,98€             34,78€             

322870 KIT BACKREST BLOCKING SPINDLE LEFT 45,12€             54,14€             

322871 KIT BACKREST BLOCKING SPINDLE RIGHT 45,12€             54,14€             

322872 KIT BACKREST SIDE HUB LEFT 89,88€             107,86€           

322873 KIT BACKREST SIDE HUB RIGHT 89,88€             107,86€           

322874 KIT BACKREST SIDE HUB (PAIR) 179,81€           215,77€           

322875 KIT FOOTREST SUPPORT BRACKET RIGHT 56,28€             67,54€             

322876 KIT FOOTREST SUPPORT BRACKET LEFT 56,28€             67,54€             

322877 KIT FIXATION FOOTREST RIGHT 27,30€             32,76€             

322878 KIT FIXATION FOOTREST LEFT 27,30€             32,76€             

322879 KIT FOOTREST TUBE (UNIT) 239,79€           287,75€           

322880 KIT UPPER PIVOT (UNIT) 67,55€             81,06€             

322881 KIT GRIP HANDLE TUBE SIZE 36 CM 110,03€           132,04€           

322882 KIT GRIP HANDLE TUBE SIZE 40 CM 114,24€           137,09€           

322883 KIT GRIP HANDLE TUBE SIZE 44 CM 115,86€           139,03€           

322884 KIT GRIP HANDLE TUBE SIZE 48 CM 115,86€           139,03€           

322885 KIT SAFETY LOCK (UNIT) 32,99€             39,59€             

322886 KIT BENT LEVER RIGHT 76,18€             91,42€             

322887 KIT BENT LEVER LEFT 79,07€             94,88€             

322889 KIT REMOTE CONTROL 93,38€             112,06€           

322896 KIT SPACERS KNEEREST LS-LSE-LSR-LSC-LSCO 14,72€             17,66€             

322914 KIT BODYPOINT CHEST STRAP S&M 141,74€           170,09€           

322915 KIT BODYPOINT CHEST STRAP L 158,80€           190,56€           

322916 KIT LARGE ABDOMINAL STRAP BODYPOINT 182,95€           219,54€           

322917 KIT CHARGER FOR STANDING UP 24V 120,58€           144,70€           

322924 RIGHT BACKREST TUBE 140,73€           168,88€           

322927 LEFT BACKREST TUBE 140,73€           168,88€           

322931 KIT ARM LOOP LEVER RIGHT LS 268,72€           322,46€           

322932 KIT ARM LOOP LEVER LEFT LS 268,72€           322,46€           

322933 RIGHT BACKREST CROSSTUBE 102,06€           122,47€           

322938 LEFT BACKREST CROSSTUBE 102,06€           122,47€           

322942 MIDDLE BACKREST CROSSTUBE 130,12€           156,14€           

322943 KIT SUPPORT TUBE + VELCRO RIGHT 110,48€           132,58€           

322944 KIT SUPPORT TUBE + VELCRO LEFT 110,48€           132,58€           

322945 KIT TRAY TABLE + VELCRO 110,48€           132,58€           

322946 TILT SLIDING TRAY 132,56€           159,07€           

322954 ACTUATOR FIXATION AXIS 25,02€             30,02€             

322955 U-SHAPE PLATE CLOSING 44,66€             53,59€             

322958 UPPER STAND-UP SPINDLE 203,00€           243,60€           

322964 LOWER STAND-UP SPINDLE 192,85€           231,42€           

322966 FRONT STAND-UP SPINDLE RIGHT 119,26€           143,11€           

322969 UNDERRIDE GUARD 200,46€           240,55€           

322977 TILT SEAT BASE 412,14€           494,57€           

322990 FRAMEWORK 989,93€           1.187,92€        

323042 KIT LONG GRIP HANDLE (UNIT) 191,53€           229,84€           

323043 KIT LONG RUBBER COATED GRIP HANDLE (UNIT) 158,29€           189,95€           

323348 KIT GAS STRUT CLEVIS 11,57€             13,88€             

323350 KIT UPPER SEAT SIZE 36 CM 341,40€           409,68€           

323351 KIT UPPER SEAT SIZE 40 CM 341,40€           409,68€           

323352 KIT UPPER SEAT SIZE 44 CM 331,45€           397,74€           

323353 KIT UPPER SEAT SIZE 48 CM 341,40€           409,68€           

323354 KIT LOWER SEAT SIZE 36 CM 341,40€           409,68€           

Seite 5 von 29



* *  Ersatzteilpreisliste LifeStand 2016 - Österreich  * *
                                                  (Version 1, Änderungen und Druckfehler vorbehalten)

Verkaufspreis Verkaufspreis

exkl. MwSt inkl. MwSt
Art. Nummer Beschreibung 1 Beschreibung 2

323355 KIT LOWER SEAT SIZE 40 CM 341,40€           409,68€           

323356 KIT LOWER SEAT SIZE 44 CM 341,40€           409,68€           

323357 KIT LOWER SEAT SIZE 48 CM 341,40€           409,68€           

323358 KIT TRIGGER 83,53€             100,24€           

323359 KIT LEGREST ROD 23,35€             28,02€             

323360 KIL LOCK CAM 33,85€             40,62€             

323361 KIT ANTI-TIPPER WHEELS (PAIR) 145,09€           174,11€           

323389 BRAKE AXLE L60 LSRKID 13,60€             16,32€             

323405 REAR ACTUATOR FIXATION AXIS 34,00€             40,80€             

323414 25,88€             31,06€             

323416 FIXATION AXIS 32,48€             38,98€             

323434 SUPPORT FRAME SIZE 48 386,72€           464,06€           

323439 SUPPORT FRAME SIZE 48 257,61€           309,13€           

323443 PIN SUPPORT (INOX) 53,80€             64,56€             

323444 LOCKING PIN (INOX) 31,97€             38,36€             

323453 SPACER Ø8,2XØ12X8,5MM 5,58€               6,70€               

323505 SUPPORT FRAME SIZE 36 386,72€           464,06€           

323512 HEXAGON HEAD SCREW 19,79€             23,75€             

323513 SPACER 16,14€             19,37€             

323521 SUPPORT FRAME SIZE 36 386,72€           464,06€           

323522 SUPPORT FRAME SIZE 44 386,72€           464,06€           

323563 SUPPORT PLATE CB02 LSR 40,35€             48,42€             

323568 KIT ADAPTATION  LINAK CONTROL BOX SME 483,75€           580,50€           

324125 KIT FOOTREST SUPPORT LSR (PAIR) 383,06€           459,67€           

324136 TILT GUIDING WASHER 12,08€             14,50€             

324137 TILT GUIDING SPACER 15,94€             19,13€             

324138 TILT GUIDING AXIS 42,33€             50,80€             

324141 TILT LOCKING PIN 38,47€             46,16€             

324142 TILT CONNECTING ROD 55,16€             66,19€             

324168 REAR COVER LSCO 115,91€           139,09€           

324169 REAR COVER LSC 117,33€           140,80€           

324177 KIT REAR COVER LSC W/O LIGHTS 126,27€           151,52€           

324246 LS KNEEPAD ADAPTATION FOR PERMOBIL VS 121,39€           145,67€           

324405 114,19€           137,03€           

324525 RIGHT ENGINE SUPPORT 140,43€           168,52€           

324527 LEFT ENGINE SUPPORT 140,43€           168,52€           

324528 LEFT BRACKET 13,20€             15,84€             

324529 RIGHT BRACKET 13,20€             15,84€             

324683 PLATE BRACKET 28,42€             34,10€             

324684 STAND-UP SENSOR PLATE 13,45€             16,14€             

324708 PANTOGRAPH SUPPORT PLATE RIGHT 159,86€           191,83€           

324709 ARMREST NUT AXLE 30,96€             37,15€             

324713 LOWER SEAT TUBE 96,68€             116,02€           

324717 UPPER SEAT TUBE 247,76€           297,31€           

324725 PANTOGRAPH SUPPORT PLATE LEFT 159,86€           191,83€           

324730 PLATE 12,28€             14,74€             

324740 PLATE JOYSTICK HOLDER 13,96€             16,75€             

324798 STATIC BODY 154,28€           185,14€           

324813 ADJUSTABLE SLOT KNEEREST 70,85€             85,02€             

324816 TUBE KNEEREST 71,05€             85,26€             

324817 HOLDER KNEEREST 111,65€           133,98€           

324820 SCREW KNEEREST 17,51€             21,01€             

324824 BENDED PLATE 124,34€           149,21€           

324827 RAIL BRACKET 55,32€             66,38€             

324835 LEFT FOOTPLATE BRACKET 45,93€             55,12€             

324838 RIGHT FOOTPLATE BRACKET 45,93€             55,12€             

324841 SCREW LEGREST CONNECTING ROD 17,86€             21,43€             

324842 LEGREST  STAND UPCONNECTING ROD 12,79€             15,35€             

324846 MAIN CONNECTING ROD RIGHT 54,56€             65,47€             

324847 MAIN CONNECTING ROD LEFT 54,56€             65,47€             

324852 LOWER SCREW LEGREST 11,22€             13,46€             

324853 UPPER SCREW LEGREST 18,63€             22,36€             

324863 ROTATION AXIS 20,35€             24,42€             

324943 GUIDE RAIL E53  L335 WITH SKATE G57 278,12€           333,74€           

324950 GUIDE RAIL E53  LG.313 WITH SKATE G57 280,14€           336,17€           

325006 PIVOT SUPPORT TUBE LEFT ASSEMBLY 129,92€           155,90€           

325007 PIVOT SUPPORT RIGHT ASSEMBLY 129,92€           155,90€           

325077 PLATE PARALLEL MOTION 26,39€             31,67€             

325081 76,13€             91,36€             

325082 76,13€             91,36€             

325085 LEFT ARMREST AXLE 95,41€             114,49€           

325100 59,63€             71,56€             

Seite 6 von 29



* *  Ersatzteilpreisliste LifeStand 2016 - Österreich  * *
                                                  (Version 1, Änderungen und Druckfehler vorbehalten)

Verkaufspreis Verkaufspreis

exkl. MwSt inkl. MwSt
Art. Nummer Beschreibung 1 Beschreibung 2

325101 59,63€             71,56€             

325102 KIT LEFT ARMREST EXTENSION 84,50€             101,40€           

325103 KIT RIGHT ARMREST EXTENSION 84,50€             101,40€           

325244 CALF SUPPORT PLATE 29,18€             35,02€             

325271 FRONT STAND-UP SPINDLE LEFT 119,26€           143,11€           

325272 CONNECTING ROD 26,39€             31,67€             

325273 LOWER ACTUATOR FIXATION 160,37€           192,44€           

325275 CONNECTING ROD N°3 19,54€             23,45€             

325277 LOWER SCREW 20,50€             24,60€             

325278 ACTUATOR REINFORCEMENT PLATE 37,81€             45,37€             

325279 STRAP ROLLER LOW 15,58€             18,70€             

325280 STRAP ROLLER HIGH 15,63€             18,76€             

325281 PLATE STRAP LOCK 8,88€               10,66€             

325282 RING ASSEMBLY 170,01€           204,01€           

325283 LEGREST CROSSTUBE 211,63€           253,96€           

325307 REINFORCEMENT RING 65,47€             78,56€             

325317 UPPER AXIS ACTUATOR 32,78€             39,34€             

325318 UPPER SCREW CONNECTING ROD N°4 20,10€             24,12€             

325319 SPACER Ø10 / Ø18 / 8,4 10,00€             12,00€             

325320 SPACER Ø12 / Ø20 / 8,1 10,05€             12,06€             

325343 AXLE PULLING INDEXING ARMREST 17,71€             21,25€             

325352 STRAP LEGREST COMPENSATION 10,15€             12,18€             

325406 2570mm LENGTH WITH CONNECTOR ANGLE STOP CABLE 30°/60°/90° 47,20€             56,64€             

325443 ELECTRIC HARNESS POWER MODULE R-NET LSCO TILT 54,96€             65,95€             

325444 FUSE HOLDER + 80A FUSE 37,25€             44,70€             

325467 HARNESS TILT - LEGREST SWITCH LSCO TILT LIFESTAND 70,80€             84,96€             

325487 STICKER WHITE BACKCOVER 9,95€               11,94€             

325488 STICKER BLACK BACKCOVER 9,95€               11,94€             

325489 STICKER BLUE BACKCOVER 9,95€               11,94€             

325490 STICKER RED BACKCOVER 9,95€               11,94€             

325491 STICKER BROWN BACKCOVER 9,95€               11,94€             

325492 STICKER LIFESTAND 17,26€             20,71€             

325493 LEFT STICKER WHITE ARMREST 13,60€             16,32€             

325494 LEFT STICKER BLACK ARMREST 13,60€             16,32€             

325495 LEFT STICKER BLUE ARMREST 13,60€             16,32€             

325496 LEFT STICKER RED ARMREST 13,60€             16,32€             

325497 LEFT STICKER BROWN ARMREST 13,60€             16,32€             

325498 RIGHT STICKER WHITE ARMREST 13,60€             16,32€             

325499 RIGHT STICKER BLACK ARMREST 13,60€             16,32€             

325500 RIGHT STICKER BLUE ARMREST 13,60€             16,32€             

325501 RIGHT STICKER RED ARMREST 13,60€             16,32€             

325502 RIGHT STICKER BROWN ARMREST 13,60€             16,32€             

325508 STICKER PINCHING POINTS 1,47€               1,76€               

325510 STICKER HOOK 0,79€               0,95€               

325511 STICKER MOTOR 1,52€               1,82€               

325521 STICKER MADE IN France 2,84€               3,41€               

325563 SPACER SEAT STOPPER 19,69€             23,63€             

325632 HANGING STRAP PLATE 8,12€               9,74€               

325675 MONO FOOTPLATE BRACKET ASSEMBL 109,11€           130,93€           

325744 REFLECTOR LEFT 3,76€               4,51€               

325745 REFLECTOR RIGHT 7,51€               9,01€               

325874 UPPER AXIS STRAP 36,03€             43,24€             

325916 BALL BEARING BRACKET 37,05€             44,46€             

325952 PROTECTION KNEEREST SLOT 41,11€             49,33€             

326616 STICKER ELECTRICAL SHEME 3,55€               4,26€               

326706 KIT PANEL HOLDER LSCT 302,77€           363,32€           

326738 STICKER INTERDICTION 1,12€               1,34€               

326795 WORKTABLE PIVOT 182,70€           219,24€           

326803 WORKTABLE PIVOT TUBE RIGHT SIDE LSCT 449,14€           538,97€           

326813 WORKTABLE FOR FLIPOVER JOYSTIC 119,26€           143,11€           

326814 WORKTABLE FOR FLIPOVER JOYSTIC 119,26€           143,11€           

326855 LEFT BACKREST TUBE EXTRA LONG 148,09€           177,71€           

326856 RIGHT BACKREST TUBE EXTRA LONG 148,09€           177,71€           

326859 STANDARD BACKREST COVER S36 Std backrest cover 91,15€             109,38€           

326861 102,06€           122,47€           

326880 SECURITY HOOK LEFT CAR FASTENING 13,96€             16,75€             

326881 SECURITY HOOK RIGHT CAR FASTENING 13,96€             16,75€             

327056 KIT LEFT DRAINPIPE EXTENSION 280,14€           336,17€           

327057 KIT RIGHT DRAINPIPE EXTENSION 280,14€           336,17€           

329677 GUIDE RAIL D52 WITH SKATE BP53 258,83€           310,60€           

329679 WORKTABLE PIVOT TUBE RIGHT SIDE LSCT 461,83€           554,20€           

329680 WORKTABLE PIVOT TUBE LEFT SIDE LSCT 393,31€           471,97€           

Seite 7 von 29



* *  Ersatzteilpreisliste LifeStand 2016 - Österreich  * *
                                                  (Version 1, Änderungen und Druckfehler vorbehalten)

Verkaufspreis Verkaufspreis

exkl. MwSt inkl. MwSt
Art. Nummer Beschreibung 1 Beschreibung 2

329682 WORKTABLE SUPPORT TUBE RIGHT 406,00€           487,20€           

329684 WORKTABLE PIVOT 78,66€             94,39€             

329685 PLATE BRACKET FOR BUMPER FOR WORKTABLE  JOYSTICK BRACKE 36,54€             43,85€             

329778 STICKER HOOK FOR CAR FASTENING LSCT 1,93€               2,32€               

329810 NUT HOLDER ARMREST FOR WELDED VERSION 73,59€             88,31€             

329811 ARMREST PLATE HOLDER RIGHT WELDED VERSION 263,90€           316,68€           

329812 ARMREST PLATE HOLDER LEFT WELDED VERSION 263,90€           316,68€           

329850 ELECTRIC HARNESS STAND-UP AND BACKREST SWITCHES LSCT 70,19€             84,23€             

329927 LEGREST SECURITY ROLL 23,85€             28,62€             

329980 PULLING INDEXING ARMREST 10,91€             13,09€             

329981 BACKREST WIDTH ADJUSTMENT TUBE 135,35€           162,42€           

600182 BOLT MC6S  4x 8 fzb 0,17€               0,20€               

600209 HEX.SOCK. COUNTERSUNK H. SCREW M5x20 0,18€               0,22€               

600256 HEXAGON NUT M10 ZINC PLATED 0,04€               0,05€               

600273 HEX.SOCKET HEAD SCREW M8x35 0,65€               0,78€               

600686 HEXAGON SOCKET HEAD CAP SCREW 0,14€               0,17€               

600693 HEX.SOCK. COUNTERSUNK H. SCREW M3X12 0,08€               0,10€               

601102 HEXAG. SOCK. BUTTON HEAD SCREW M4X12 0,12€               0,14€               

601170 BUTTON HEAD SCREW M5X16 LSR KID 0,12€               0,14€               

601184 HEXAGON SOCKET HEAD CAP SCREW Fillister- screw M4x12 0,11€               0,13€               

601189 HEX.SOCK. COUNTERSUNK H. SCREW M5x16 0,13€               0,16€               

601231 HEX. SOCKET HEAD SCREW M10x55 1,02€               1,22€               

601236 PLASTIC PLUG 25X25 LSR KID 0,80€               0,96€               

601346 HEX.SOCKET HEAD SCREW M3x6 0,14€               0,17€               

601359 HEX.SOCKET HEAD CAP SCREW M6x8 0,44€               0,53€               

601404 HEXAG. SOCK. BUTTON HEAD SCREW M8x16 0,42€               0,50€               

601424 Countesunk-head screw M5x30 0,20€               0,24€               

601700 HEX.SOCKET HEAD SCREW M8x65 0,86€               1,03€               

601702 HEX.SOCKET HEAD SCREW M8x90 8.8 Fe/Zn 5 C1 0,72€               0,86€               

601705 HEX.SOCK. BUTTON H.SCREW M4X16 0,17€               0,20€               

602165 HEXAG. SOCK. BUTTON HEAD SCREW M8x25 0,42€               0,50€               

602368 HEX. SOCKET HEAD SCREW M8X75 0,82€               0,98€               

602376 HEX. SOCKET HEAD SCREW M8x80 0,98€               1,18€               

612335 REFLECTOR RED 2,39€               2,87€               

612368 REFLECTOR WHITE 2,39€               2,87€               

612711 ADJUSTABLE HANDLE M6X16 LSR KID 21,82€             26,18€             

612912 O RING  Ø15.3X2.4 LSR KID 0,51€               0,61€               

612934 HEX.SOCKET COUNTERSUNK H. M5x8 0,23€               0,28€               

612947 SQUARE NUT M6 0,38€               0,46€               

612979 button-headed screw M5x35 hexagon socket head 0,35€               0,42€               

613016 HEX.SOCKET COUNTERSUNK H. M6x8 0,32€               0,38€               

613686 POWER MODULE 90 R-NET 624,23€           749,08€           

613732 HEXAGON SOCKET COUNT M4x35 0,35€               0,42€               

613829 LIGHT REAR LED 83,18€             99,82€             

613830 LIGHT REAR LED TURN SIGNAL 83,18€             99,82€             

613874 LOCK HANDLE 0,89€               1,07€               

613904 M6 SPRING PLUNGER LSR KID 16,81€             20,17€             

614170 BLACK PLASTIC SREW M5X20 0,20€               0,24€               

614171 TUBULAR SPACER 5.2X10X12 0,55€               0,66€               

614173 HEX.SOCK. COUNTERSUNK H. SCREW M5x35 0,27€               0,32€               

614174 HEXAGON SOCKET SET SCREWW M3X16 0,28€               0,34€               

614176 WASHER Ø10/Ø18X2 LSR KID 1,47€               1,76€               

614177 BEARING WITH FLANGEØ20/Ø21X20 LSR KID 1,47€               1,76€               

614179 BEARING Ø16/Ø18X10 LSR KID 2,94€               3,53€               

614184 BACKREST SPRING LSR KID 12,79€             15,35€             

614185 Nut cap M5 0,12€               0,14€               

614186 BRAKE SPRING LSR KID 11,37€             13,64€             

614187 REAR WHEEL COMPLETE 20" LSR KID 215,13€           258,16€           

614188 QUICK REALEASE AXLE LSR KID 29,33€             35,20€             

614193 HEX.SOCKET HEAD SCREW M12x65 1,98€               2,38€               

614194 TUBULAR SPACER 12.6X25X10 3,87€               4,64€               

614200 BEARING  IGUS GFM-1012-07 COLOR GREY 1,52€               1,82€               

614202 BEARING  IGUS GSM-2022-10 COLOR GREY 2,18€               2,62€               

614203 BEARING  IGUS GTM-1630-015 COLOR GREY 2,13€               2,56€               

614209 CAP Ø32 Ø28 BLACK LSR KID 1,22€               1,46€               

614210 Countesunk-head screw M2X20 0,14€               0,17€               

614216 PCB SUPPORT 4/19.1 2,60€               3,12€               

614217 TUBULAR SPACER Ø4.2/Ø8X3 0,31€               0,37€               

614218 Countesunk-head screw M3x8 0,08€               0,10€               

614219 TUBULAR SPACER  L5 Ø6.3/Ø10 3,77€               4,52€               

614224 TUBULAR SPACER 5.2X10X12 1,44€               1,73€               

614226 BLACK SCREW CAP M8 Ø24 1,04€               1,25€               

Seite 8 von 29



* *  Ersatzteilpreisliste LifeStand 2016 - Österreich  * *
                                                  (Version 1, Änderungen und Druckfehler vorbehalten)

Verkaufspreis Verkaufspreis

exkl. MwSt inkl. MwSt
Art. Nummer Beschreibung 1 Beschreibung 2

614240 HANDRIM FIXATION KIT LSR KID 10,81€             12,97€             

614268 HEX. SOCKET HEAD SCREW M8X40 0,58€               0,70€               

614272 FORM WASHER Ø25 LSR KID 1,13€               1,36€               

614275 WHEEL 22'' 258,47€           310,16€           

614279 HEX.SOCKET HEAD SCREW M2x10 INOX 0,16€               0,19€               

614365 Tube lock Ø19.1 LSR KID 6,20€               7,44€               

614368 TUBULAR SPACER Ø18X8.2X10 LSR KID 1,66€               1,99€               

614370 PREVAILING TORQUE TYPE HEXAGON NUT M14 0,23€               0,28€               

614371 BEARING 63002LLU 50,11€             60,13€             

614404 Spring plunger M4 16,60€             19,92€             

614472 SPACER Ø5,2xØ12x10 PPS FV BLACK 0,43€               0,52€               

614474 ADJUSTABLE KNURLED SCREW M6X20 13,04€             15,65€             

614476 ADJUSTABLE KNURLED NUT M6 7,66€               9,19€               

614478 ADJUSTABLE HANDLE CROSS STYLE M6X15 8,43€               10,12€             

614480 WASHER DIN522 (10,5x30x4) 4,49€               5,39€               

614578 BEARING WITH FLANGE 0,58€               0,70€               

614579 BEARING WITH FLANGE 2,33€               2,80€               

614582 COMPRESSION SPRING 3,36€               4,03€               

614584 WASHER 0,51€               0,61€               

614585 THICK WASHER 0,51€               0,61€               

614587 RUBBER STOPPER RADIAFLEX Ø25.5MM X HT.20MM M6 THREADED 24,87€             29,84€             

614594 BEARING WITH FLANGE 1,98€               2,38€               

614629 RIGHT MOTOR 300W 4P 4800RPM 32:1 24V 261,36€           313,63€           

614630 LEFT MOTOR 300W 4P 4800RPM 32:1 24V 261,36€           313,63€           

614653 BATTERY 12V 20AhC20 162,40€           194,88€           

614673 PIN 5x12 GROOVED PIN 5X12 0,59€               0,71€               

614677 BEARING WITH FLANGE 2,44€               2,93€               

614679 BEARING WITH FLANGE IGUS GFM-0810-03 1,07€               1,28€               

614681 BEARING WITH FLANGE 1,98€               2,38€               

614684 RIGHT PLASTIC COVER BATTERY CONNECTOR 15,38€             18,46€             

614685 SPRING RETAINING RING 3,09€               3,71€               

614687 WHEEL SKATER 4’’ LED 33,04€             39,65€             

614697 ACTUATOR LL-6001 STROKE 225 MM 456,75€           548,10€           

614698 ACTUATOR LINAK LA30 150mm 628,29€           753,95€           

614735 BLACK CAP 0,92€               1,10€               

614736 ACTUATOR RE25 110+105 (stroke) 2xØ10.1 492,28€           590,74€           

614737 ACTUATOR RE25 145+115 (stroke) 2xØ12,1 548,10€           657,72€           

614738 603,72€           724,46€           

614739 573,48€           688,18€           

614740 RIGHT MOTOR 10Km/h 654,47€           785,36€           

614741 LEFT MOTOR 10Km/h 654,47€           785,36€           

614742 STOPPER RADIAFLEX 8,73€               10,48€             

614757 HITCH PIN CLIP Ø1,5 STRAIGHT 1,51€               1,81€               

614763 PREVAILING TORQ TYPE HEXA NUT DIN 985 M12x1,5 Fe/Zn 5 C1 1,13€               1,36€               

614776 BLACK CAP FOR RECTANGULAR TUBE 30x20 0,85€               1,02€               

614807 PIN 6x16 m6 0,50€               0,60€               

614808 PIN 6x24 m6 0,51€               0,61€               

614813 LEFT PLASTIC COVER BATTERY CONNECTOR 15,38€             18,46€             

614843 HEXAGON SOCKET COUNTERSUN 0,50€               0,60€               

614853 0,34€               0,41€               

614867 HEXAGON SOCKET CS HEAD SCREW ISO 10642 M12x70 10.9 BRUT 3,74€               4,49€               

614868 WAVE SPRING WASHER Ø12 DIN 137B (Ø13xØ24x1,2mm) BLANK 0,42€               0,50€               

614922 CABLE PROTECTION SLEEVE Ø19MM COLOR BLACK 46,94€             56,33€             

614926 EXTERNAL RETAINING RING DIN 471 Ø14,3mmxØ22,6x1mm 0,33€               0,40€               

614927 EXTERNAL RUBBER TUBE CAP BLACK FOR TUBE Ø16 1,27€               1,52€               

614939 BEARING WITH FLANGE 1,88€               2,26€               

614990 SCREW SHORT HEAD CHC M10x35 0,85€               1,02€               

A0002XXXFO BEARING FOR CLEVIS 9,14€               10,97€             

A0003XXXZN Upper seat tube spacer 17,86€             21,43€             

A0004XXXFO Lower seat tube wedging ring 6,70€               8,04€               

A0005XXXFO Rocking lever wedging washer 4,77€               5,72€               

A0006XXXZN Seat crosstube nut 10,45€             12,54€             

A0007XXXFO Lower seat spacer 4,72€               5,66€               

A0008XXXFO Cylindrical obturator for tube Ø10-0.4'' 0,23€               0,28€               

A0009XXXFO Black cap for tube Ø19-0.8'' 0,17€               0,20€               

A0021XXXZN Upper seat tube lug spindle 15,48€             18,58€             

A0022XXXZN Front seat tube lug spindle 16,90€             20,28€             

A0023XXXFO Gas strut guide ring 9,54€               11,45€             

A0100XXXDE LSA USER MANUAL GERMANY -€                 -€                 

A0100XXXDK LSA USER MANUAL DENMARK -€                 -€                 

A0100XXXES LSA USER MANUAL SPAIN -€                 -€                 

A0100XXXFI LSA USER MANUAL FINLAND -€                 -€                 

Seite 9 von 29



* *  Ersatzteilpreisliste LifeStand 2016 - Österreich  * *
                                                  (Version 1, Änderungen und Druckfehler vorbehalten)

Verkaufspreis Verkaufspreis

exkl. MwSt inkl. MwSt
Art. Nummer Beschreibung 1 Beschreibung 2

A0100XXXFR LSA USER MANUAL FRANCE -€                 -€                 

A0100XXXGB LSA USER MANUAL ENGLAND -€                 -€                 

A0100XXXIT LSA USER MANUAL ITALY -€                 -€                 

A0100XXXNL LSA USER MANUAL HOLLAND -€                 -€                 

A0100XXXNO LSA USER MANUAL NORWAY -€                 -€                 

A0100XXXPT LSA USER MANUAL PORTUGAL -€                 -€                 

A0100XXXSE LSA USER MANUAL SWEDEN -€                 -€                 

A0100XXXUS LSA USER MANUAL USA -€                 -€                 

A1001LXXAI Left side hub 41,46€             49,75€             

A1001RXXAI Right side hub 41,46€             49,75€             

A1002X36PN Rear wheel axle S36-14'' 175,24€           210,29€           

A1002X38PN Rear wheel axle S38-15'' 175,24€           210,29€           

A1002X40PN Rear wheel axle S40-16'' 175,24€           210,29€           

A1002X42PN Rear wheel axle S42-17'' 175,24€           210,29€           

A1002X44PN Rear wheel axle S44-18'' 175,24€           210,29€           

A1002X46PN Rear wheel axle S46-19'' 175,24€           210,29€           

A1002X48PN Rear wheel axle S48 20" 175,24€           210,29€           

A1003X36MB Front seat crosstube S36-14'' Microbeaded 422,75€           507,30€           

A1003X38MB Front seat crosstube S38-15'' Microbeaded 422,75€           507,30€           

A1003X40MB Front seat crosstube S40-16'' Microbeaded 422,75€           507,30€           

A1003X42MB Front seat crosstube S42-17'' Microbeaded 422,75€           507,30€           

A1003X44MB Front seat crosstube S44-18'' Microbeaded 422,75€           507,30€           

A1003X46MB Front seat crosstube S46-19'' Microbeaded 422,75€           507,30€           

A1004X36PN Cambered rear wheel axle S36-14'' 345,20€           414,24€           

A1004X38PN Cambered rear wheel axle S38-15'' 345,20€           414,24€           

A1004X40PN Cambered rear wheel axle S40-16'' 345,20€           414,24€           

A1004X42PN Cambered rear wheel axle S42-17'' 345,20€           414,24€           

A1004X44PN Cambered rear wheel axle S44-18'' 345,20€           414,24€           

A1004X46PN Cambered rear wheel axle S46-19'' 345,20€           414,24€           

A1004X48PN Cambered rear wheel axle S48 20" 345,20€           414,24€           

A1005XXXAI CLEVIS FOR GAS SPRING 48,77€             58,52€             

A1006XXXZN Backrest blocking spindle 12,59€             15,11€             

A1010XXXFO RENFORCEMENT 1 90,03€             108,04€           

A1011XXXFO RENFORCEMENT 2 44,86€             53,83€             

A2001LXXMB LOWER SEAT TUBE LEFT Microbeaded 394,28€           473,14€           

A2001RXXMB LOWER SEAT TUBE RIGHT Microbeaded 394,28€           473,14€           

A2002X36MB UPPER SEAT FRAME S36-14'' Microbeaded 257,35€           308,82€           

A2002X38MB UPPER SEAT FRAME S38-15'' Microbeaded 257,35€           308,82€           

A2002X40MB UPPER SEAT FRAME S40-16'' Microbeaded 257,35€           308,82€           

A2002X42MB UPPER SEAT FRAME S42-17'' Microbeaded 257,35€           308,82€           

A2002X44MB UPPER SEAT FRAME S44-18'' Microbeaded 257,35€           308,82€           

A2002X46MB UPPER SEAT FRAME S46-19'' Microbeaded 257,35€           308,82€           

A2003XXXAI Safety slide-lock right 15,07€             18,08€             

A2005XXXAI Lower seat tube lug 67,60€             81,12€             

A2007XXXZN Safety slide-lock spindle 7,66€               9,19€               

A2008XXXFO Stop peg 10,81€             12,97€             

A2009XXXFO RED SAFETY CAP 1,55€               1,86€               

A3003A36FO Knee-support S36-38 14''-15'' 77,65€             93,18€             

A3003A40FO Knee-support S40-42 16''-17'' 77,65€             93,18€             

A3003A44FO Knee-support S44-46 18''-19'' 77,65€             93,18€             

A3005XXXFO Knee-support padding 4,62€               5,54€               

A3006LXXPN Black left footrest tube 147,53€           177,04€           

A3006RXXPN Black right footrest tube 147,53€           177,04€           

A3011XXXZN Footrest tube upper lug spindle 10,66€             12,79€             

A3014XXXAI Knee-pad brace 25,58€             30,70€             

A3015XXXFO Knee-support cover 29,23€             35,08€             

A3016XXXFO Knee-support cover+ padding 18,32€             21,98€             

A3017XXXFO NEOPRENE KNEE PAD PAIR 83,18€             99,82€             

A3018XXXFO POLYURETHANE KNEE PAD PAIR 312,98€           375,58€           

A3019XXXFO LARGE NEOPRENE KNEE PAD 71,66€             85,99€             

A3040LLGFO Knee-support fitting square left short S38-42-46 27,56€             33,07€             

A3040LXXFO Knee-support fitting square left short S36-40-44 27,56€             33,07€             

A3040RLGFO Knee-support fitting square right short S38-42-46 27,56€             33,07€             

A3040RXXFO Knee-support fitting square right short S36-40-44 27,56€             33,07€             

A3041LLGFO Knee-support fitting square left long S38/42/46 35,78€             42,94€             

A3041LXXFO Knee-support fitting square left long S36/40/44 35,78€             42,94€             

A3041RLGFO Knee-support fitting square right long S38/42/46 35,78€             42,94€             

A3041RXXFO Knee-support fitting square right long S36/40/44 35,78€             42,94€             

A3042XXXFO PU KNEEREST MOUNT BLACK ANODIZED 40,24€             48,29€             

A3043X36ST KNEEREST KIT S36 14" 274,15€           328,98€           

A3043X38ST KNEEREST KIT S38 15" 274,15€           328,98€           

A3043X40ST KNEEREST KIT S40 16" 274,15€           328,98€           

Seite 10 von 29



* *  Ersatzteilpreisliste LifeStand 2016 - Österreich  * *
                                                  (Version 1, Änderungen und Druckfehler vorbehalten)

Verkaufspreis Verkaufspreis

exkl. MwSt inkl. MwSt
Art. Nummer Beschreibung 1 Beschreibung 2

A3043X42ST KNEEREST KIT S42 17" 274,15€           328,98€           

A3043X44ST KNEEREST KIT S44 18" 274,15€           328,98€           

A3043X46ST KNEEREST KIT S46 19" 274,15€           328,98€           

A4001XXXFO Height adjustable backrest push-handle guide ring 10,40€             12,48€             

A4002X36MB Microbeaded Backrest S36-14'' 261,92€           314,30€           

A4002X38MB Microbeaded backrest S38-15'' 261,92€           314,30€           

A4002X40MB Microbeaded backrest S40-16'' 261,92€           314,30€           

A4002X42MB Microbeaded backrest S42-17'' 261,92€           314,30€           

A4002X44MB Microbeaded backrest S44-18'' 261,92€           314,30€           

A4002X46MB Microbeaded backrest S46-19'' 261,92€           314,30€           

A4003XXXAI Backrest angle block 23,80€             28,56€             

A4004XXXAI Backrest hook 112,77€           135,32€           

A4005XXXAI Side hub spacer 46,33€             55,60€             

A4006XXXAI Backrest blocking spindle sleeve 93,74€             112,49€           

A4007XXXFO guide ring 13,20€             15,84€             

A4008XCXBR Bent backrest tube extension 94,90€             113,88€           

A4008XXXBR Backrest tube extension 55,22€             66,26€             

A4008XXXFO Backrest extensions PAIRE 178,39€           214,07€           

A4009XXXFO Backrest spring Ø8-0.3'' 3,66€               4,39€               

A4014XXXFO Push handle Ø19-0.8'' 3,58€               4,30€               

A4015XXXFO CUP WASHER Ø4.3MM 0,11€               0,13€               

A4018XXXFO PUSH HANDLES PAIR 178,39€           214,07€           

A4050XXXFO Retractable Armrest set PAIR 171,69€           206,03€           

A4055XXXPN ARMREST SUPPORT 75,62€             90,74€             

A4056XXXFO Handle foam small 2,74€               3,29€               

A7001XXXFO Rear wheel  wedging washer 6,95€               8,34€               

A7006PVCFO Rubber coated push rim 24'' black 104,24€           125,09€           

A7006XXXFO Anodized push rim - black 40,96€             49,15€             

A7008XXXFO 5" SOLID POLY W/ALUM RIM 157,22€           188,66€           

A7009XXXFO 5"X1" SOLID POLY FLAT 114,49€           137,39€           

A7011LXXFO Bearing+fork+ leftcastor+wheel 143,22€           171,86€           

A7011RXXFO Bearing+fork+ right castor 143,22€           171,86€           

A7011SXXFO castor 69,53€             83,44€             

A7013LXXFO Left Castor Mount Assembly 75,31€             90,37€             

A7013RXXFO Right Castor Mount Assembly 75,31€             90,37€             

A7013XXXFO Castor soft roller Ø5'' 27,66€             33,19€             

A7150BANFO FRONT CASTORS 6'' 41,41€             49,69€             

A7600BLEFO Spinergy wheel blue spokes 489,89€           587,87€           

A7600NOIFO Spinergy wheel black spokes 489,89€           587,87€           

A7600ROUFO Spinergy wheel red spokes 489,89€           587,87€           

A7600WHIFO SPINERGY WHEEL WHITE SPOKES 489,89€           587,87€           

A7650X01AI FOOTREST EXTENSION 37,66€             45,19€             

A7650X02FO WHEEL 26'' 265,07€           318,08€           

A7650X03FO QUICK RELEASE AXLE Ø 12X98 34,10€             40,92€             

A7650X04FO BUSHING FOR QUICK RELEASE M16X1-D12X50 29,23€             35,08€             

A7650XXXFO Wheel Ø650-26'' set ROUES AR/AV + RALLONGES 686,34€           823,61€           

A8001XXXAI Grip handle lug 15,43€             18,52€             

A8003XXXZN LINKAGE AXLE 10,71€             12,85€             

A8005PVCFO Rubber coated grip handle 85,62€             102,74€           

A8005XLGPL Coated Grip handle black long 130,63€           156,76€           

A8005XLGPN Long black handle 145,50€           174,60€           

A8005XXXPN Grip handle black 43,54€             52,25€             

A8006XXXPN Grip handle brace black 85,82€             102,98€           

A8007XXXFO LONG GAS SPRING SPACER 4,36€               5,23€               

A8008XXXFO GAS SPRING SPACER 3,81€               4,57€               

A8011XXXZN ARM LOOP AXLE lug spindle 10,15€             12,18€             

A8015XXXPN LONG BLACK GRIP HANDLE 1 SET OF 2 PCS 291,25€           349,50€           

A8021XXXZN Blended screw 8,27€               9,92€               

A8022XXXZN Blended nut 10,35€             12,42€             

A8023XXXZN Long blended nut 11,37€             13,64€             

A8200XXXFO Gas strut Liftline 200N 28,62€             34,34€             

A8300XXXFO Gas strut Liftline 300N 28,62€             34,34€             

A8400XXXFO Gas strut Liftline 400N 28,62€             34,34€             

A8500XXXFO Gas strut Liftline 500N 28,62€             34,34€             

A8600XXXFO Gas strut Liftline 600N 28,62€             34,34€             

A8700XXXFO Gas strut Liftline 700N 28,62€             34,34€             

A8800XXXFO Gas strut Liftline 800N 28,62€             34,34€             

A9001XXXAI Anti tip bar fitting 60,85€             73,02€             

A9010XXXFO Side-guard set OPTION 277,70€           333,24€           

A9011LXXFO Left Side-guard 193,15€           231,78€           

A9011RXXFO Right Side-guard 193,15€           231,78€           

A9012XXXZN Side-guard fitting 31,97€             38,36€             

Seite 11 von 29



* *  Ersatzteilpreisliste LifeStand 2016 - Österreich  * *
                                                  (Version 1, Änderungen und Druckfehler vorbehalten)

Verkaufspreis Verkaufspreis

exkl. MwSt inkl. MwSt
Art. Nummer Beschreibung 1 Beschreibung 2

A9013LXXZN Safety slide-lock left 11,37€             13,64€             

A9020XXXAI Anti tip bar set 1 set of L/R sides 164,33€           197,20€           

A9030XXXFO KIT PU KNEEREST 340,94€           409,13€           

ANN-RAD10RENFO E-TYPE REINFORCED RING Ø10 0,19€               0,23€               

ANN-RAD6RENFO Ring Ø 6 mm TRUARC 0,05€               0,06€               

ANN-RAD8RENFO Ring Ø 8 mm TRUARC 0,09€               0,11€               

C0001XXXFO Square Black Tip 16 x 16 0,15€               0,18€               

C0005XXXFO Spring pushing M8 14,31€             17,17€             

C0006XXXFO KNURLED BASE SCREW M8X20 RUBBER-COVERED SPUD 0,86€               1,03€               

C0110XXXDE LSC3 USER MANUAL ALLEMAGNE -€                 -€                 

C0110XXXDK LSC3 USER MANUEL DANEMARK -€                 -€                 

C0110XXXES LSC3 USER MANUEL ESPAGNE -€                 -€                 

C0110XXXFI LSC3 USER MANUEL FINLANDE -€                 -€                 

C0110XXXFR LSC3 USER MANUEL FRANCE -€                 -€                 

C0110XXXGB LSC3 USER MANUEL ANGLAIS -€                 -€                 

C0110XXXIT LSC3 USER MANUEL ITALIE -€                 -€                 

C0110XXXNL LSC3 USER MANUEL PAYS BAS -€                 -€                 

C0110XXXNO LSC3 USER MANUEL NORVEGE -€                 -€                 

C0110XXXPT LSC3 USER MANUEL PORTUGAL -€                 -€                 

C0110XXXSE LSC3 USER MANUEL SUEDE -€                 -€                 

C0110XXXUS LSC3 USER MANUEL USA -€                 -€                 

C0201XXXZN Axle Ø 10X90X18 11,17€             13,40€             

C0202XXXZN Axle Ø 10X106X17 11,52€             13,82€             

C0203XXXZN Axle Ø 10X74 10,30€             12,36€             

C0204XXXZN Axle Ø 10X51.5X17 11,17€             13,40€             

C0205XXXZN Axle Ø 10X12 16,29€             19,55€             

C0206XXXZN Axle Ø 10X146X17 13,25€             15,90€             

C0207XXXZN Upper connecting rod axle 10,15€             12,18€             

C0209XXXZN Axle Ø 8X77 9,39€               11,27€             

C0210XXXZN AXLE Ø6X36x7 6,24€               7,49€               

C0212XXXZN Lower seat axle 7,61€               9,13€               

C0214XXXFO Nut cap M8 0,11€               0,13€               

C0215XXXFO Nut cap M6 0,10€               0,12€               

C0216XXXFO Nut cap M10 0,12€               0,14€               

C0217XXXFO Nut cap M12 0,42€               0,50€               

C1002XXXZI SPACER Ø12xØ20x9 12,74€             15,29€             

C1003X36AI Seat connecting rod S36-14'' 39,94€             47,93€             

C1003X40AI Seat connecting rod S40-16'' 39,94€             47,93€             

C1003X44AI Seat connecting rod S44-18'' 39,94€             47,93€             

C1003X48AI Seat connecting rod S48-20'' 39,94€             47,93€             

C1004X36ZN Lower connecting rod axle S36- 14'' 16,95€             20,34€             

C1004X40ZN Lower connecting rod axle S40- 16'' 16,95€             20,34€             

C1004X44ZN Lower connecting rod axle S44- 18'' 16,95€             20,34€             

C1004X48ZN Lower connecting rod axle S48- 20'' 16,95€             20,34€             

C1005XXXAI upper seat connecting rod 47,55€             57,06€             

C1007XXXFO Shock absorber 10mm-0.3'' 7,70€               9,24€               

C1008XXXCR Axle Ø10-0.3'' 10,25€             12,30€             

C1009X36AI Spacer th. 8mm-0.3'' 19,03€             22,84€             

C1009X44AI Spacer th. 20mm 19,74€             23,69€             

C1010XXXAI Connecting rod part 27,25€             32,70€             

C1100LXXBL LEFT WHITE FRAME 530,95€           637,14€           

C1100LXXPB LEFT BLUE FRAME 530,95€           637,14€           

C1100LXXPN LEFT  BLACK FRAME 530,95€           637,14€           

C1100LXXPR LEFT RED FRAME 530,95€           637,14€           

C1100RXXBL RIGHT WHITE FRAME 530,95€           637,14€           

C1100RXXPB RIGHT BLUE FRAME 530,95€           637,14€           

C1100RXXPN RIGHT BLACK FRAME 500,60€           600,72€           

C1100RXXPR RIGHT RED FRAME 530,95€           637,14€           

C1101XXXPN BLACK MAIN WELDING FRAME 809,92€           971,90€           

C1102XXXPN POWER MODULE SUPPORT 53,19€             63,83€             

C1103XXXPN TIE-ROD 7,16€               8,59€               

C1104LXXFO LEFT COVER FRAME 12,18€             14,62€             

C1104RXXFO RIGHT COVER FRAME 12,18€             14,62€             

C1105XXXFO BRAKE SUPPORT 5,89€               7,07€               

C1106XXXFO AXLE FIXATION CLIP 0,75€               0,90€               

C1121XXXPN COVER FIXATION CLIP 6,55€               7,86€               

C1122XXXFO SPACER FOR COVER 0,74€               0,89€               

C1123XXXFO COVER LOCKING PIN 20,00€             24,00€             

C1124XXXFO RECEPTACLE LOCKING PIN 11,52€             13,82€             

C1125XXXFO BACKUP WASHER 0,71€               0,85€               

C1126XXXFO RIVET Ø 3 0,41€               0,49€               

C1130XXXFO BATTERY BOX 54,30€             65,16€             

Seite 12 von 29



* *  Ersatzteilpreisliste LifeStand 2016 - Österreich  * *
                                                  (Version 1, Änderungen und Druckfehler vorbehalten)

Verkaufspreis Verkaufspreis

exkl. MwSt inkl. MwSt
Art. Nummer Beschreibung 1 Beschreibung 2

C1131XXXFO STRAP BATTERY HOUSING 4,36€               5,23€               

C1161XXXFO RED REFLECTOR 14,51€             17,41€             

C2001XSHPN LOWER SEAT FRAME SHORT BLACK 341,19€           409,43€           

C2001XXXPN LOWER SEAT FRAME BLACK 351,60€           421,92€           

C2002XSHPN Upper short seat tube - black 67,50€             81,00€             

C2002XXXPN Black Upper seat tube 72,07€             86,48€             

C2005X40ZN Seat spacer S40-16'' 12,99€             15,59€             

C2005X44ZN Seat spacer S44-18'' 12,99€             15,59€             

C2005X48ZN Seat spacer S48-20'' 12,99€             15,59€             

C2006XSHAI Short seat groove 83,33€             100,00€           

C2006XXXAI Seat groove 57,86€             69,43€             

C3006XXXZN Knee support locking 28,01€             33,61€             

C3007XXXZN Knee support stopper 18,73€             22,48€             

C3045L36PN LEFT KNEE SUPPORT TUBE S36 111,35€           133,62€           

C3045L40PN LEFT KNEE SUPPORT TUBE S40 111,35€           133,62€           

C3045L44PN LEFT KNEE SUPPORT TUBE S44 111,35€           133,62€           

C3045L48PN LEFT KNEE SUPPORT TUBE S48 111,35€           133,62€           

C3045R36PN RIGHT KNEE SUPPORT TUBE S36 63,13€             75,76€             

C3045R40PN RIGHT KNEE SUPPORT TUBE S40 63,13€             75,76€             

C3045R44PN RIGHT KNEE SUPPORT TUBE S44 63,13€             75,76€             

C3045R48PN RIGHT KNEE SUPPORT TUBE S48 63,13€             75,76€             

C3101XCOPN Black footrest support short 259,89€           311,87€           

C3101XXXPN FOOREST SUPPORT 259,89€           311,87€           

C3103HXXAI High footrest side 50,50€             60,60€             

C3103XXXAI Footrest side plate 37,81€             45,37€             

C3105LXXPN FOOTPLATE FLIP UP LEFT 83,74€             100,49€           

C3105RXXPN FOOTPLATE FLIP UP RIGHT 83,74€             100,49€           

C3105XSHPN MONOBLOC FOOTPLATE FLIP UP SHORT 265,83€           319,00€           

C3105XXLPN MONOBLOC FOOTPLATE FLIP UP LARGE 265,83€           319,00€           

C3105XXXPN MONOBLOC FOOTPLATE FLIP UP STD 265,83€           319,00€           

C3107XXXZN FOOTREST SPACER 2,08€               2,50€               

C3108XXXZN Axle mono-footrest 17,51€             21,01€             

C3109XXXZN HEIGHT SHIFTED FOOTPLATE 99,11€             118,93€           

C3110XXXFO Fix heel 21,52€             25,82€             

C3120XXXFO FOOTREST -DUAL 109,21€           131,05€           

C3121XXXFO FOOTREST- ONE M 215,84€           259,01€           

C3122XXXFO FOOTREST - ONE L 297,09€           356,51€           

C3140XXXAI KNEEPAD SLEEVE 74,15€             88,98€             

C4001X36PN LOWER BACKREST CROSSBAR S36 322,57€           387,08€           

C4001X40PN LOWER BACKREST CROSSBAR S40 322,57€           387,08€           

C4001X44PN LOWER BACKREST CROSSBAR S44 322,57€           387,08€           

C4001X48PN LOWER BACKREST CROSSBAR S48 322,57€           387,08€           

C4002X36PN BACKREST CROSSBAR S36 CROSSBAR BACK  S36-14'' 94,34€             113,21€           

C4002X40PN BACKREST CROSSBAR S40 CROSSBAR BACK S40-16'' 94,34€             113,21€           

C4002X44PN BACKREST CROSSBAR S44 CROSSBAR BACK S44-18'' 94,34€             113,21€           

C4002X48PN BACKREST CROSSBAR S48 CROSSBAR BACK S48-20'' 94,34€             113,21€           

C4003XXXPN Adjusting part 7,61€               9,13€               

C4050XXXZN Backrest pivot 64,25€             77,10€             

C4051XXXAI ELECTRICAL BACKREST KNOB backrest knob int. 69,32€             83,18€             

C4052XCOPN SHORT BACKREST TUBE Short backrest  tube 16'' 50,60€             60,72€             

C4052XXXPN Backrest tube 78,61€             94,33€             

C4053LXXAI Left armrest knob 65,87€             79,04€             

C4053RXXAI Right armrest knob 65,87€             79,04€             

C4054LXXAI Left pantograph knob 50,60€             60,72€             

C4054RXXAI Right pantograph knob 50,60€             60,72€             

C4055LXXZN Left adjusting lever 157,38€           188,86€           

C4055RXXZN Right adjusting lever 157,38€           188,86€           

C4056XXXZN Armrest pivot 17,51€             21,01€             

C4059XXXZN Armrest stop 9,14€               10,97€             

C4060XXXFO SWINGAWAY JOYSTICK ASSEMBLY LI FESTAND 182,85€           219,42€           

C4062LPAAI Left armrest knob for tray 88,51€             106,21€           

C4062RPAAI Right armrest knob for tray 88,51€             106,21€           

C4153XXXPN double armrest support 25,63€             30,76€             

C4157XLGPN Lengh Pantographe support 49,43€             59,32€             

C4158XLGCR Lengh Pantograph rod 21,52€             25,82€             

C4160XXXPN LOWER ACTUATOR TUBE 24,00€             28,80€             

C4161XXXPN UPPER ACTUATOR TUBE 21,01€             25,21€             

C4171XXXPN Control box bracket 23,85€             28,62€             

C4172XXXAI Pantograph connecting rod 22,03€             26,44€             

C4173XXXAI Control support right 25,02€             30,02€             

C4174LXXAI Control support left 36,59€             43,91€             

C4174RXXAI Control support right 36,59€             43,91€             

Seite 13 von 29



* *  Ersatzteilpreisliste LifeStand 2016 - Österreich  * *
                                                  (Version 1, Änderungen und Druckfehler vorbehalten)

Verkaufspreis Verkaufspreis

exkl. MwSt inkl. MwSt
Art. Nummer Beschreibung 1 Beschreibung 2

C4174XXXAI Control support 37,15€             44,58€             

C4175XXXAI Control plate 13,14€             15,77€             

C4176OPTPN JOYSTICK RJM MOUNTING KIT 23,50€             28,20€             

C4176XXXPN ATTENDANT CONTROL SUPPORT FOR DYNAMIC SHARK AND DX 14,51€             17,41€             

C4177OPTPN JOYSTICK RJM MOUNTING KIT-2 32,84€             39,41€             

C4177XXXPN Control box support 23,85€             28,62€             

C4178LXXPN Control box support left 25,58€             30,70€             

C4178RXXPN Control box support right 25,58€             30,70€             

C4180LXXFO Left attendant bracket for master remote G90A 34,51€             41,41€             

C4180RXXFO Right attendant bracket for master remote G90A 34,51€             41,41€             

C5001XXXPN Standing up piston support 225,94€           271,13€           

C5003MONTE Standing up actuator 297,45€           356,94€           

C5003XXXFO LSC cylinder (not prepared) 296,68€           356,02€           

C5010MONTE Backrest piston 243,30€           291,96€           

C5011MONTE BACKREST ACTUATOR DYNAMIC ELEC 246,19€           295,43€           

C5036XXXFO BOW TYPE HANDLE AND SHUTTER 111,50€           133,80€           

C5048XXXFO ROTOR E20 COMPLET 412,39€           494,87€           

C5057XXXFO LIGHT MODULE SUPPORT 7,16€               8,59€               

C5103MONTE STANDING UP ACTUATOR 300,39€           360,47€           

C5110LXXFO LEFT MOTOR 180W DYN. WITH DYNAMIC CONNECTORS 281,21€           337,45€           

C5110RXXFO RIGHT MOTOR 180W DYN. WITH DYNAMIC CONNECTORS 281,21€           337,45€           

C5111XXXFO CARBON BRUSH 2,28€               2,74€               

C5120PROFO PROTECTION CRADLE 54,86€             65,83€             

C5120XXXFO MASTER REMOTE DX EUROPA G90A 921,72€           1.106,06€        

C5123XXXFO DX BUS CABLE 2.0M 119,31€           143,17€           

C5129XXXFO DX BUS 4 WAY SOCKET 244,31€           293,17€           

C5131XXXFO Connection circuits for batteries 268,92€           322,70€           

C5133XXXFO CONNECTOR JACK 6.35 3,70€               4,44€               

C5134XXXFO DX-ACU1 ATTENDANT JOYSTICK 898,99€           1.078,79€        

C5135BLUFO BUDDY BOUTON BLUE 135,00€           162,00€           

C5135REDFO BUDDY BOUTON RED 135,00€           162,00€           

C5136XXXFO MINI CUP SWITCH 177,93€           213,52€           

C5137XXTFO WRIST PLATE 96,63€             115,96€           

C5141XXXFO HAND HELD PROGRAMMER 944,36€           1.133,23€        

C5142OEMFO DYNAMIC WIZARD USB 809,46€           971,35€           

C5142XXXFO DYNAMIC WIZARD USB 1.005,15€        1.206,18€        

C5145XXXFO DX BUS CABLE 2.5M 125,30€           150,36€           

C5151XEUFO EU plug and power cord 31,72€             38,06€             

C5151XUKFO UK plug and power cord 31,72€             38,06€             

C5151XUSFO US plug and power cord 31,72€             38,06€             

C5231XXXFO FUSE BOX FOR BATTERIES WITH ELECTRICAL HARNESS 20,00€             24,00€             

C5232XXXFO batteries connection  LSCI VR2 5,84€               7,01€               

C5233MONTE SPEED LIMIT CONTACTOR 126,32€           151,58€           

C5234XXXFO ELECTRICAL HARNESS SB50 FOR RIGHT BATTERY HOUSING 35,27€             42,32€             

C5235XXXFO ELECTRICAL HARNESS SB50 FOR LEFT BATTERY HOUSING 35,27€             42,32€             

C5237XXXFO VR2 70A-2ACT POWER MODULE 372,10€           446,52€           

C5238XXXFO VR2 JOYSTICK  - 2 ACTUATORS 255,22€           306,26€           

C5239XXXFO EXTENSION WIRE 0.5 M VR2 21,42€             25,70€             

C5240XXXFO VR2 JOYSTICK ACTUATORS+LIGHTS 287,19€           344,63€           

C5241XXXFO VR2 LIGHTS MODULE 110,23€           132,28€           

C5242XXXFO VR2 LIGHTS MODULE CONNECTOR 11,37€             13,64€             

C5310LXXFO LEFT MOTOR 180W WITH PG/VR2 CONNECTORS 281,21€           337,45€           

C5310RXXFO RIGHT MOTOR 180W WITH PG/VR2 CONNECTORS 281,21€           337,45€           

C5311LXXFO LEFT MOTOR 180W R-NET WITH R-NET CONNECTOR 340,28€           408,34€           

C5311RXXFO RIGHT MOTOR 180W R-NET WITH R-NET CONNECTOR 340,28€           408,34€           

C7075XXXFO ANTI-TIPPER WHEEL Ø75x24 4,94€               5,93€               

C7101XXXFO fork for LSC 46,64€             55,97€             

C7108FLEFO Front wheel Flexel 8'' 63,59€             76,31€             

C7110LFLFO Rear Wheel 3.00-8'' LEFT with silver alu rim - FLEXEL 244,56€           293,47€           

C7110LGOFO Rear Wheel 3.00-8'' LEFT with silver alu rim inflatable 138,75€           166,50€           

C7110RFLFO Rear Wheel 3.00-8'' RIGHT with silver alu rim - FLEXEL 244,56€           293,47€           

C7110RGOFO Rear Wheel 3.00-8'' RIGHT with silver alu rim inflatable 138,75€           166,50€           

C7111XXXFO Plastic cover rear rim 5,89€               7,07€               

C7112XXXAI Hub 73,33€             88,00€             

C7175FLEFO Castor 7 Flexel Ø175x45 64,35€             77,22€             

C7301FLEFO iNFILL Flexel 3.00"-8" 87,80€             105,36€           

C9000XXXFO COMPLETE TRAY TABLE SET 960,24€           1.152,29€        

C9010XSHFO KIT SIDE GUARDS SHORT (PAIR) 177,17€           212,60€           

C9010XXXFO KIT SIDE GUARDS LONG (PAIR) 186,86€           224,23€           

C9011XXXFO MILLED SPACER 1,73€               2,08€               

C9024XXXPN Anti tip connecting rod 15,68€             18,82€             

C9091XXXFO POLYAMIDE TUBE CLAMP Ø22 8,58€               10,30€             

Seite 14 von 29



* *  Ersatzteilpreisliste LifeStand 2016 - Österreich  * *
                                                  (Version 1, Änderungen und Druckfehler vorbehalten)

Verkaufspreis Verkaufspreis

exkl. MwSt inkl. MwSt
Art. Nummer Beschreibung 1 Beschreibung 2

C9102XXXFO LSC KIT 3.233,54€        3.880,25€        

C9103XXXFO VR2 LSC KIT 954,00€           1.144,80€        

C9111XSHFO CLOTHES GUARDS SHORT 32,78€             39,34€             

C9111XXXFO LONG CLOTHES GUARDS 46,89€             56,27€             

C9121XXXPN Anti-tip support 163,92€           196,70€           

C9131XXXPN Traverse for stopper 123,88€           148,66€           

C9132LXXPN Ancrage front left 29,54€             35,45€             

C9132RXXPN Ancrage front right 29,54€             35,45€             

C9140XXXFO LARGE ARMREST KIT 94,04€             112,85€           

C9141LXXFO ELECTRICAL HARNESS AND LIGHT TURN SIGNAL LEFT 110,79€           132,95€           

C9141RXXFO ELECTRICAL HARNESS AND LIGHT TURN SIGNAL RIGHT 102,52€           123,02€           

C9150XXXPN Support headlight 6,85€               8,22€               

C9151XXXAI attendant dual support 121,85€           146,22€           

C9160XXXFO ATTENDANT CONTROL KIT 827,38€           992,86€           

C9161XXXFO ATTENDANT CONTROL KIT DEPORTEE 804,95€           965,94€           

C9162XXXFO JSM MOUNTED ON BACKREST KIT FOR DX VR2 R-NET LSCO LSC3 112,67€           135,20€           

C9163XXXFO REMOTE CONTROL KIT 547,19€           656,63€           

C9165XXXFO CHIN CTRL CHEST WITHOUT JOYST 427,16€           512,59€           

C9166XXXAI Plastron shoulder pads 62,52€             75,02€             

C9167XXXAI Plastron support flange 96,63€             115,96€           

C9168XXXAI Fixing plate 45,47€             54,56€             

C9169XXXFO BLACK PCV WASHER 1,79€               2,15€               

C9170XXXFO CHIN CONTROL BRACKET 445,74€           534,89€           

C9176XXXFO CHIN CONTROL BRACKET 445,74€           534,89€           

C9190XXXFO ARTIFICIAL RESPIRATION SUPPORT 455,63€           546,76€           

C9191XXXPN ARTIFICIAL RESPIRATION SUPPORT BLACK 602,30€           722,76€           

ECR-H6ZN Nut M6 0,04€               0,05€               

ECR-H8ZN Nut M8 0,07€               0,08€               

ECR-HFR10ZN PREVAILING TORQUE TYPE HEXAGON NUT M10 0,13€               0,16€               

ECR-HFR12ZN PREVAILING TORQUE TYPE HEXAGON NUT M12 0,22€               0,26€               

ECR-HFR3ZN PREVAILING TORQUE TYPE HEXAGON NUT M3 0,05€               0,06€               

ECR-HFR4ZN PREVAILING TORQUE TYPE HEXAGON NUT M4 0,04€               0,05€               

ECR-HFR5ZN Stop nut M5 0,04€               0,05€               

ECR-HFR6ZN PREVAILING TORQUE TYPE HEXAGON NUT M6 0,04€               0,05€               

ECR-HFR8ZN PREVAILING TORQUE TYPE HEXAGON NUT M8 0,12€               0,14€               

ECR-HM12ZN Nut M12 0,27€               0,32€               

ECR-HM6ZN Nut M6 0,06€               0,07€               

ECR-HM8ZN HEXAGON THIN NUT M8 0,09€               0,11€               

F0030XXXFO Anti skid sticker 9,39€               11,27€             

GOU-CANN3X16BR Fluted lock pin G02 Ø3x16 0,15€               0,18€               

GOU-CANN5X18BR Fluted lock pin G06 Ø5x18 0,31€               0,37€               

GOU-CANN5X18ZN Fluted lock pin G02 Ø6x35 1,20€               1,44€               

GOU-CANN6X35ZN Fluted lock pin G02 Ø6x35 1,20€               1,44€               

GOU-ELAS6X45BR Elastic lock pin 0,42€               0,50€               

K0001XXXFO Ball bearing 14,77€             17,72€             

K1006XXXZN Fork axle 31,26€             37,51€             

K1010LXXAI Left brake lever 22,63€             27,16€             

K1010RXXAI Right brake lever 22,63€             27,16€             

K1011XXXZN Washer Ø 6.2 - 8 ep 6.2 5,99€               7,19€               

K5000XXXFO ACTUATOR RE25.4 562,36€           674,83€           

K9003XXXFO INDEXING ARTICULATION 13,09€             15,71€             

K9030XXXFO Anti-tip assembly 56,43€             67,72€             

L0001212FO Square Black Tip 12X12 0,12€               0,14€               

L0002020FO Black cap for tube 20x20 0,19€               0,23€               

L0002221AI SPACER Ø6,2xØ16x3 FOR TUBE Ø22,1 0,66€               0,79€               

L0002254AI SPACER Ø6xØ18x3 FOR TUBE Ø25.4 0,81€               0,97€               

L0003254FO Convave washer for Ø25.4- 1'' 0,68€               0,82€               

L0003520FO Black cap for tube 35X20 0,19€               0,23€               

L0004010FO O ring JN 10 x 2 0,46€               0,55€               

L0005025FO Black cap for tube 50X25 0,68€               0,82€               

L0005140FO Black cap tube  Ø16 0,29€               0,35€               

L0005180FO Black cap tube  Ø18-0.7'' 0,08€               0,10€               

L0005221FO Black cap for tube Ø22.1- 0.8'' 0,15€               0,18€               

L0005254FO Black cap for tube Ø25.4- 1'' 0,18€               0,22€               

L0005300FO Black cap Ø30-1.1'' 0,56€               0,67€               

L0006195FO FOOT-REST PLUG Ø19.5 MM+WEDGE 0.7'' 1,81€               2,17€               

L0007060FO Collar bearing 6x8x4 0,47€               0,56€               

L0007080FO Collar bearing 8x10x5.5 0,61€               0,73€               

L0007100FO Collar bearing 10x12x7 0,66€               0,79€               

L0007112FO Collar bearing 10x12x7 0,66€               0,79€               

L0008100FO Cylindrical bearing 10x12x10 0,66€               0,79€               

L0008120FO Cylindrical bearing 12x14x10 0,66€               0,79€               

Seite 15 von 29



* *  Ersatzteilpreisliste LifeStand 2016 - Österreich  * *
                                                  (Version 1, Änderungen und Druckfehler vorbehalten)

Verkaufspreis Verkaufspreis

exkl. MwSt inkl. MwSt
Art. Nummer Beschreibung 1 Beschreibung 2

L0009XXXFO Tube lock 49161 2,06€               2,47€               

L0013XXXFO PINJ CLIP FOR TUBE Ø10x45 9,29€               11,15€             

L0014XXXFO REFLECTOR 2,64€               3,17€               

L0015XXXZN Axle 8 X 46/35 8,53€               10,24€             

L0016XXXZN Axle 8X36 2,61€               3,13€               

L0018XXXZN AXLE 8X25 4,49€               5,39€               

L0020XXXFO ADJUSTMENT KNOB M8x20 1,39€               1,67€               

L0022XXXFO Pawl D6-LG7 2,11€               2,53€               

L0026XXXFO Adjustment Knob  BOMBA M8 X 15 1,02€               1,22€               

L0027XXXFO Alu footplate slide spring 3,81€               4,57€               

L0100XXXDE LS/LS-E USER MANUAL -€                 -€                 

L0100XXXDK LS/LS-E USER MANUAL -€                 -€                 

L0100XXXES LS/LS-E USER MANUAL -€                 -€                 

L0100XXXFI LS/LS-E USER MANUAL -€                 -€                 

L0100XXXFR LS/LS-E USER MANUAL -€                 -€                 

L0100XXXGB LS/LS-E USER MANUAL -€                 -€                 

L0100XXXIT LS/LS-E USER MANUAL ITALIE -€                 -€                 

L0100XXXNL LS/LS-E USER MANUAL PAYS BAS -€                 -€                 

L0100XXXNO LS/LS-E USER MANUAL NORVEGE -€                 -€                 

L0100XXXPT LS/LS-E USER MANUAL -€                 -€                 

L0100XXXSE LS/LS-E USER MANUAL SUEDE -€                 -€                 

L0100XXXUS LS/LS-E USER MANUAL USA -€                 -€                 

L0110XXXPN Axle spacer 7,36€               8,83€               

L0111XXXAI Footrest connecting rod 27,86€             33,43€             

L0112XXXFO guide ring LS3 5,99€               7,19€               

L0113XXXFO wedging ring LS3 4,01€               4,81€               

L0114XXXZN Gas spring axle LS3 13,35€             16,02€             

L0115XXXZN Cross bar screw LS3 8,32€               9,98€               

L0116XXXFO washer Ø8.2 ep 6.3 LS3 3,30€               3,96€               

L0117XXXZN Screw M8-30-11.5 LS3 5,73€               6,88€               

L0122XXXFO washer Ø8.2 ep8.5  LS3 4,42€               5,30€               

L0123XXXFO washer Ø6.2 ep 5 LS3 3,35€               4,02€               

L0124XXXFO Stop roller 3,81€               4,57€               

L0200XXXDE LSR USER MANUAL GERMAN -€                 -€                 

L0200XXXES LSR USER MANUAL SPAIN -€                 -€                 

L0200XXXFI LSR USER MANUAL FINLAND -€                 -€                 

L0200XXXFR LSR USER MANUAL FRANCE -€                 -€                 

L0200XXXGB LSR USER MANUAL ENGLISH UK -€                 -€                 

L0200XXXIT LSR USER MANUAL ITALY -€                 -€                 

L0200XXXNL LSR USER MANUAL HOLLAND -€                 -€                 

L0200XXXNO LSR USER MANUAL NORWAY -€                 -€                 

L0200XXXPT LSR USER MANUAL PORTUGAL -€                 -€                 

L0200XXXSE LSR USER MANUAL SWEDEN -€                 -€                 

L0200XXXUS LSR USER MANUAL USA -€                 -€                 

L1004XXXZN FORK JOINT AXLE 0,02€               0,02€               

L1007LSEFO Shock absorber 7,48€               8,98€               

L1100LXXPB LEFT BLUE FRAME 154,94€           185,93€           

L1100LXXPN LEFT BLACK FRAME 154,94€           185,93€           

L1100LXXPR LEFT RED FRAME 154,94€           185,93€           

L1100LXXPT TITANIUM LEFT FRAME 154,94€           185,93€           

L1100RXXPB BLUE RIGHT FRAME right 154,94€           185,93€           

L1100RXXPN BLACK RIGHT FRAME 154,94€           185,93€           

L1100RXXPR RED RIGHT FRAME 154,94€           185,93€           

L1100RXXPT TITANIUM RIGHT FRAME 154,94€           185,93€           

L1101XXXAI Backrest plate 39,64€             47,57€             

L1103X36PN Upper transverse tube S36-14'' 120,07€           144,08€           

L1103X40PN Upper transverse tube S40-16'' 120,07€           144,08€           

L1103X44PN Upper transverse tube S44-18'' 120,07€           144,08€           

L1103X48PN Upper transverse tube S48-20'' 120,07€           144,08€           

L1105X36PN Basic frame 36 black-14'' 240,86€           289,03€           

L1105X40PN Basic frame 40 black-16'' 240,86€           289,03€           

L1105X44PN Basic frame 44 black-18'' 240,86€           289,03€           

L1105X48PN Basic frame 48 black-20'' 240,86€           289,03€           

L1106XXXZN Backrest lock spindle LS3 6,39€               7,67€               

L1120LXXAI Left brake set for LS3 86,53€             103,84€           

L1120RXXAI Right brake set for LS3 86,53€             103,84€           

L1122XXXFO BRAKE AXLE L33 LSRKID 13,09€             15,71€             

L1125XXXFO KIT BRAKE EXTENSION (PAIR) FOLDAWAY 12,43€             14,92€             

L1126XXXFO brake lever for hinged handle 5,73€               6,88€               

L1200LXXBL WHITE ALUMINIUM LEFT FRAME 247,71€           297,25€           

L1200LXXPB DEEP BLUE ALUMINIUM LEFT FRAME 247,71€           297,25€           

L1200LXXPN BLACK ALUMINIUM LEFT FRAME 247,71€           297,25€           

Seite 16 von 29



* *  Ersatzteilpreisliste LifeStand 2016 - Österreich  * *
                                                  (Version 1, Änderungen und Druckfehler vorbehalten)

Verkaufspreis Verkaufspreis

exkl. MwSt inkl. MwSt
Art. Nummer Beschreibung 1 Beschreibung 2

L1200LXXPR WINE RED ALUMINIUM LEFT FRAME 247,71€           297,25€           

L1200RXXBL WHITE ALUMINIUM RIGHT FRAME 247,71€           297,25€           

L1200RXXPB DEEP BLUE ALUMINIUM LEFT FRAME 247,71€           297,25€           

L1200RXXPN BLACK ALUMINIUM RIGHT FRAME 247,71€           297,25€           

L1200RXXPR WINE RED ALUMINIUM RIGHT FRAME 247,71€           297,25€           

L1201X36FO LOW SITREST S36 437,52€           525,02€           

L1201X40FO LOW SITREST S40 437,52€           525,02€           

L1201X44FO LOW SITREST S44 437,52€           525,02€           

L1201X48FO LOW SITREST S48 437,52€           525,02€           

L1202XXXFO Preloading articulated rod 41,46€             49,75€             

L1203XXXFO LEGREST ROD 13,85€             16,62€             

L1204XXXFO TRIGGER 72,72€             87,26€             

L1205X36FO Basic frame width 36 LSR 389,81€           467,77€           

L1205X40FO Basic frame width 40 LSR 389,81€           467,77€           

L1205X44FO Basic frame width 44 LSR 389,81€           467,77€           

L1205X48FO Basic frame width 48 LSR 389,81€           467,77€           

L1206XXXFO LOCK HOOCK 9,59€               11,51€             

L1207XXXFO REAC RE25.3 ACTUATOR 619,20€           743,04€           

L1208XXXFO SANDOW 40,90€             49,08€             

L1211XXXFO LOWER SEAT AXLE 17,86€             21,43€             

L1212XXXFO LOCK AXLE 15,83€             19,00€             

L1213XXXFO AXLE 15,58€             18,70€             

L1214XXXFO AXLE 18,02€             21,62€             

L1219XXXFO M10 AXLE 15,17€             18,20€             

L1220XXXFO CONTROL BOX CB01 LSR 854,88€           1.025,86€        

L1221XXXFO CONTROL BOARD 289,73€           347,68€           

L1222XXXFO LOCK CAM 48,26€             57,91€             

L1223XXXFO RIGHT SPRING 29,38€             35,26€             

L1224XXXFO LEFT SPRING 29,38€             35,26€             

L1225XXXFO FIXING PULLEY FOR BUNGEE LSR 21,62€             25,94€             

L1226XXXFO LONG SIT AXLE LSR 26,59€             31,91€             

L1227XXXFO ANTI TIPS PLATE LSR 50,60€             60,72€             

L1228XXXFO RIGHT SANDOW COVER LSR 26,14€             31,37€             

L1229XXXFO EXTENSION FOR ANTI TIPPERS 103,78€           124,54€           

L1230X36FO ALUMINIUM FOOT PLATE S36 100,54€           120,65€           

L1230X40FO ALUMINIUM FOOT PLATE S40 100,54€           120,65€           

L1230X44FO ALUMINIUM FOOT PLATE S44 100,54€           120,65€           

L1230X48FO ALUMINIUM FOOT PLATE S48 100,54€           120,65€           

L1231LXXFO LEFT BRAKE LSR 83,79€             100,55€           

L1231RXXFO RIGHT BRAKE LSR 83,79€             100,55€           

L1232XXXFO CONNECTOR JACK 6.35 19,39€             23,27€             

L1233LXXFO Left pivot + fork + wheel Ø150-6'' 122,16€           146,59€           

L1233RXXFO right pivot + fork + wheel Ø150-6'' 122,16€           146,59€           

L1234XXXFO LEFT SANDOW COVER LSR 26,14€             31,37€             

L2007XXXFO FORK JOINT 21,52€             25,82€             

L2101XXXPN LOWER SEAT TUBE 125,45€           150,54€           

L2102X36PN UPPER SEAT FRAME S 36-14'' 135,35€           162,42€           

L2102X40PN UPPER SEAT FRAME S 40-16'' 135,35€           162,42€           

L2102X44PN UPPER SEAT FRAME S 44-18'' 135,35€           162,42€           

L2102X48PN UPPER SEAT FRAME S 48-20'' 135,35€           162,42€           

L2103X36PN CROSS BAR LOWER SEAT FRAME S36-14'' BLACK 129,21€           155,05€           

L2103X40PN CROSS BAR LOWER SEAT FRAME S40-16'' 129,21€           155,05€           

L2103X44PN CROSS BAR LOWER SEAT FRAME S44-18'' 129,21€           155,05€           

L2103X48PN CROSS BAR LOWER SEAT FRAME S48-20'' 129,21€           155,05€           

L2104XXXFO Plane lug LS3 24,77€             29,72€             

L2105XXXAI Safety slide-lock 16,29€             19,55€             

L2106XXXAI Seat groove for LS3 40,35€             48,42€             

L2107XXXZN Safety slide-lock spindle LS3 6,45€               7,74€               

L2108XXXZN Screw M6x27 6,55€               7,86€               

L3002XXXZN Foot-rest fork joint spindle 4,72€               5,66€               

L3005XXXAI Fork-joint lug for foot-rest 23,35€             28,02€             

L3013ITTFO FOAM+COVER FOR CONFORT KNEEPADConfort kneepad + cover SET 27,35€             32,82€             

L3016XXXFO Cover for comfort kneepad 43,19€             51,83€             

L3017XXXFO Foam for comfort kneepad 7,46€               8,95€               

L3032XXXZN Spacer Ø8x5x3.5 5,02€               6,02€               

L3044XXXFO Knee-support locking screw M5 5,48€               6,58€               

L3060XXXFO Locking knee support set 208,99€           250,79€           

L3100XXXFO CONFORT KNEEPADS SET (2 PCS) (UPHOLSTERIES+FOAMS INCLUDED) 302,62€           363,14€           

L3101LXXPN Left footrest clevis 26,75€             32,10€             

L3101RXXPN Right footrest clevis 17,66€             21,19€             

L3102LXXPN left footrest bracket 24,36€             29,23€             

L3102RXXPN right footrest bracket 24,36€             29,23€             

Seite 17 von 29



* *  Ersatzteilpreisliste LifeStand 2016 - Österreich  * *
                                                  (Version 1, Änderungen und Druckfehler vorbehalten)

Verkaufspreis Verkaufspreis

exkl. MwSt inkl. MwSt
Art. Nummer Beschreibung 1 Beschreibung 2

L3103E36FO MONOBLOC FOOTPLATE PLASTIC S36-14'' 29,79€             35,75€             

L3103E40FO MONOBLOC FOOTPLATE PLASTIC S40-16'' 29,79€             35,75€             

L3103E44FO MONOBLOC FOOTPLATE PLASTIC S44-18'' 29,79€             35,75€             

L3104X36PN Footrest support tube 36-14'' 152,50€           183,00€           

L3104X40PN footrest support tube 40-16'' 152,50€           183,00€           

L3104X44PN footrest support tube 44-18'' 152,50€           183,00€           

L3104X48PN footrest support tube 48-20'' 152,50€           183,00€           

L3106XXXPN FOOTREST TUBE - BLACK 43,70€             52,44€             

L3107XXXAI Footrest bushing 29,99€             35,99€             

L3108XXXAI Plastic guide 14,31€             17,17€             

L3109XXXAI Footrest blocking ring 15,23€             18,28€             

L3110XXXFO KNEEPAD KIT SET KNEEPAT 129,46€           155,35€           

L3111XXXFO PU KNEE-SUPPORT 65,32€             78,38€             

L3112FXXAI Knee-support nut LS3 34,97€             41,96€             

L3114XXXAI ALUMINIUM KNEE SHELL 36,34€             43,61€             

L3116XXXFO Cover for comfort kneepad 22,13€             26,56€             

L3120XXXAI Footrest side plate 46,08€             55,30€             

L3121LXXAI Left sleeve & guide ring LS3 79,53€             95,44€             

L3121RXXAI Right sleeve & guide ring LS3 79,53€             95,44€             

L3145L36PN left knee support tubeS36-14'' 149,36€           179,23€           

L3145L40PN Black left knee support tube S40-16'' 149,36€           179,23€           

L3145L44PN BLACK 44-18" LEFT KNEE SUPPORT TUBE 149,36€           179,23€           

L3145L48PN Black left knee support tube S48-20'' 149,36€           179,23€           

L3145R36PN Black right knee support tube S36-14'' 77,39€             92,87€             

L3145R40PN Black right knee support tube S40-16'' 77,39€             92,87€             

L3145R44PN BLACK 44-18" RIGHT KNEE SUPPORT TUBE 77,39€             92,87€             

L3145R48PN Black right knee support tube S48-20'' 77,39€             92,87€             

L3150X36PN FOOTREST SUPPORT TUBE S36-14'' 109,52€           131,42€           

L3150X40PN FOOTREST SUPPORT TUBE S40-16'' 109,52€           131,42€           

L3150X44PN FOOTREST SUPPORT TUBE S44-18'' 109,52€           131,42€           

L3150X48PN FOOTREST SUPPORT TUBE S48-20'' 109,52€           131,42€           

L3151LXXPN FOOTPLATE FLIP UP LEFT 49,79€             59,75€             

L3151RXXPN FOOTPLATE FLIP UP RIGHT 49,79€             59,75€             

L3152LXXPN Left footplate flip-up 44-48 54,35€             65,22€             

L3152RXXPN Right footplate flip-up 44-48 54,35€             65,22€             

L3161XXXZN Separate footplate hinge 82,72€             99,26€             

L3162X36PN Legrest reinforcement stirrup S 40-16'' 286,48€           343,78€           

L3162X40PN Legrest reinforcement stirrup S 40-16'' 286,48€           343,78€           

L3162X44PN Legrest reinforcement stirrup S44-18'' 286,48€           343,78€           

L3162X48PN Legrest reinforcement stirrup S 48-20'' 286,48€           343,78€           

L3163L36PN FOOTPLATE LEFT S36-14'' 39,18€             47,02€             

L3163L40PN FOOTPLATE LEFT S40-16'' 39,18€             47,02€             

L3163L44PN FOOTPLATE LEFT S44-18'' 39,18€             47,02€             

L3163L48PN FOOTPLATE LEFT S48-20'' 39,18€             47,02€             

L3163R36PN FOOTPLATE RIGHT S36-14'' 39,18€             47,02€             

L3163R40PN FOOTPLATE RIGHT S40-16'' 39,18€             47,02€             

L3163R44PN FOOTPLATE RIGHT S44-18'' 39,18€             47,02€             

L3163R48PN FOOTPLATE RIGHT S48-20'' 39,18€             47,02€             

L3164XXXZN Upper guide 11,06€             13,27€             

L3165XXXFO Lower guide 19,59€             23,51€             

L3166XXXPN FOOTREST TUBE 211,68€           254,02€           

L3167LXXAI Left sleeve support 139,16€           166,99€           

L3167RXXAI Right sleeve support 131,95€           158,34€           

L3168XXXAI Upper pivot 66,38€             79,66€             

L3169X40ZN Separate footplate basculing 36-40 69,17€             83,00€             

L3169X44ZN Separate footplate basculing 44-48 69,17€             83,00€             

L3170XXXZN Bolt 66,94€             80,33€             

L3171XXXZN Contact tie-rod 12,54€             15,05€             

L3172XXXZN Control unit rod 10,30€             12,36€             

L3173XXXZN Spring 7,82€               9,38€               

L3174XXXZN Contact nut 19,79€             23,75€             

L3175XXXZN Unlocking button 10,66€             12,79€             

L3176XXXZN Wedging ring 8,12€               9,74€               

L3177XXXZN DOUBLE FOOTPLATE AXLE 19,49€             23,39€             

L3178XXXZN Screw M8 20,60€             24,72€             

L4003X36FO Backrest cord S40-16'' 9,64€               11,57€             

L4003X40FO Backrest cord S40-16'' 9,64€               11,57€             

L4003X44FO Backrest cord S44-18'' 9,64€               11,57€             

L4003X48FO Backrest cord S48-20'' 9,64€               11,57€             

L4004ERGFO Ergonomic handles 2,30€               2,76€               

L4006XXXPN Extended pushhandles 11,32€             13,58€             

L4055LXXZN Left armrest support 80,79€             96,95€             

Seite 18 von 29



* *  Ersatzteilpreisliste LifeStand 2016 - Österreich  * *
                                                  (Version 1, Änderungen und Druckfehler vorbehalten)

Verkaufspreis Verkaufspreis

exkl. MwSt inkl. MwSt
Art. Nummer Beschreibung 1 Beschreibung 2

L4055RXXZN Right armrest support 80,79€             96,95€             

L4056CAPFO Black sheath 19x2x80 0,71€               0,85€               

L4060STDMONTE Armrest  set 357,74€           429,29€           

L4060XSHFO CHEST SUPPORT ARMREST SHORT 110,84€           133,01€           

L4060XSHMONTE Short armrest set 398,49€           478,19€           

L4060XXXFO LONG ARMREST CHEST SUPPORT 97,74€             117,29€           

L4102LCOPN Short left backrest upright 137,23€           164,68€           

L4102LREPN Long left backrest tube 96,12€             115,34€           

L4102LXXPN Left backrest tube 149,66€           179,59€           

L4102RCOPN Short right backrest right 137,23€           164,68€           

L4102RREPN Long right backrest tube 96,12€             115,34€           

L4102RXXPN Right backrest tube 149,66€           179,59€           

L4108XXXZN Backrest locking block 44,81€             53,77€             

L4109XXXPN Locking plate backrest zinced 7,21€               8,65€               

L4152LXXAI Left armrest nut LS3 89,12€             106,94€           

L4152RXXAI Right armrest nut LS3 89,12€             106,94€           

L4153XXXZN Armrest nut spindle LS3 12,08€             14,50€             

L4154XXXZN ARMREST HOOK 21,87€             26,24€             

L4155LXXZN Left armrest support LS3 77,39€             92,87€             

L4155RXXZN Right armrest support LS3 77,39€             92,87€             

L4156XXXPN Armrest catch zinced black 12,13€             14,56€             

L4157X36PN CROSSBAR BACK S 36-14" 134,54€           161,45€           

L4157X40PN CROSSBAR BACK S 40-16'' 134,54€           161,45€           

L4157X44PN CROSSBAR BACK S 44-18'' 134,54€           161,45€           

L4157X48PN CROSSBAR BACK S 48-20' 134,54€           161,45€           

L4160STDMONTE LS3 armrest set 633,31€           759,97€           

L4160XSHMONTE Armrest left+right set 659,60€           791,52€           

L5002SXXFO Charger for standing up 24V 89,83€             107,80€           

L5003AUSFO Australian Plug 6,60€               7,92€               

L5003EURFO European Plug 6,60€               7,92€               

L5003UKXFO UK Plug 6,60€               7,92€               

L5003USAFO USA Plug 6,60€               7,92€               

L5004BOIFO Control box + 2 batteries 301,51€           361,81€           

L5005XXXFO Stand-up remote control 92,16€             110,59€           

L5008XXXFO BATTERIES 12V STAND UP FONCTION 40,35€             48,42€             

L5100XXXFO Complete set for electrical standing 935,53€           1.122,64€        

L5101XXXPN SUPPORT FRAME ACTUATOR LS3 169,45€           203,34€           

L5104XXXFO Actuator LA 31+ cable LS3 257,96€           309,55€           

L6001XX3FO Three-strap seat for S36-40/14''-16'' 38,67€             46,40€             

L6001XX4FO Four-strap seat for S42-48/16''-20'' 56,23€             67,48€             

L6002XX1FO Universal one-strap back-rest stay 9,39€               11,27€             

L6002XX2FO Universal two-strap back-rest stay 18,73€             22,48€             

L6002XX3FO Universal three-strap back-rest stay 26,90€             32,28€             

L6005H40FO EXTENDED BACKREST COVER S36-40 92,87€             111,44€           

L6005H44FO EXTENDED BACKREST COVER S44 92,87€             111,44€           

L6005H48FO EXTENDED BACKREST COVER S48 92,87€             111,44€           

L6005X36FO STANDARD BACKREST COVER S36 Std backrest cover 38,01€             45,61€             

L6005X40FO STANDARD BACKREST COVER S40 38,01€             45,61€             

L6005X44FO STANDARD BACKREST COVER S44 38,01€             45,61€             

L6006X40FO Adjustable tense seat S36-40/14''-16'' 90,23€             108,28€           

L6006X44FO Adjustable tense seat S42-48/16''-20'' 90,23€             108,28€           

L6007XXXFO Velcro strap + Ring 3,40€               4,08€               

L6008XXXFO Metal ring 0,38€               0,46€               

L6050CROFO Black velcro strap sticker 2cm-0.7'' hooks 62,07€             74,48€             

L6050VELFO Black velcro strap sticker 2cm-0.7 rings 42,63€             51,16€             

L6110X36FO SEAT CUSHION VISCO S36x40x7 114,75€           137,70€           

L6110X4048 SEAT CUSHION VISCO S40x48x7 CUSHION VISCO SIZE 40X48 114,75€           137,70€           

L6110X40FO SEAT CUSHION VISCO S40x45x7 114,75€           137,70€           

L6110X4448 SEAT CUSHION VISCO S44x48x7 CUSHION VISCO SIZE 44X48 114,75€           137,70€           

L6110X44FO SEAT CUSHION VISCO S44x45x7 114,75€           137,70€           

L6110X48FO SEAT CUSHION VISCO S48x48x7 CUSHION VISCO S 48X48X7 114,75€           137,70€           

L7001XXXFO Aluminium fork M14 52,27€             62,72€             

L7002XXXFO Quick release spindle + nut 14,77€             17,72€             

L7003145FO Wheel cover int Ø 145 mm PMMA CRISTAL CHOS EI60 70,95€             85,14€             

L7003XXXFO Clips for wheel cover 1,27€               1,52€               

L7005XECFO Nut for wheel bearing 1,12€               1,34€               

L7005XLSFO LONG SLEEVE Ø12 11,88€             14,26€             

L7005XXXFO Bearing + nut for spinergy wheel 16,65€             19,98€             

L7006CHRFO CHROMED PUSHRIM 54,20€             65,04€             

L7006P55FO Handrim Ø550-22'' smooth silicone covered 51,87€             62,24€             

L7006PVCFO HANDRIM Ø600-24'' SMOOTH SILICONE COVER 93,18€             111,82€           

L7006X55FO Handrim Ø550-22'' 17,71€             21,25€             

Seite 19 von 29



* *  Ersatzteilpreisliste LifeStand 2016 - Österreich  * *
                                                  (Version 1, Änderungen und Druckfehler vorbehalten)

Verkaufspreis Verkaufspreis

exkl. MwSt inkl. MwSt
Art. Nummer Beschreibung 1 Beschreibung 2

L7006XXXFO Handrim Ø600-24'' 29,89€             35,87€             

L7007XXXFO Flat excentric hexagonal nut 0,85€               1,02€               

L7012XXXFO WHEELRIM WITHOUT PUSHRIM 58,72€             70,46€             

L7111XXXFO Tire 24x1 + tube pair 42,99€             51,59€             

L7112XXXFO Marathon 24 tyres + tube pair 102,46€           122,95€           

L7113XXXFO Tire 24x1 3/8 + tube pair 29,84€             35,81€             

L7120XXXFO Spokeguards Kit 156,77€           188,12€           

L7121XXXFO KIT OF 4 REFLECTORS 10,45€             12,54€             

L7150BANFO Front flat-free wheel Ø150x25 6''x1'' 22,53€             27,04€             

L7550HPRFO Complete Wheel + HP tyres 22 173,57€           208,28€           

L7601HPRFO High pressure tyre Ø600-24''- inner tube 31,21€             37,45€             

L7601MARFO TYRE Ø600-24''- MARATHON + EVOLUTION 86,38€             103,66€           

L7601STDFO Standard tyre Ø600-24''- inner tube 15,48€             18,58€             

L7602HPRFO Complete wheel hub Ø600-24'' hight pressure 106,68€           128,02€           

L7603NUEFO Complete wheel hub without tyre 88,51€             106,21€           

L7603STPFO STOPLOCK WHEEL 382,60€           459,12€           

L7611FJXFO Inside rim protection for rim Ø600-24''- 1,42€               1,70€               

L7611HPRFO Tube High pressure for tyre Ø600-24''- 8,53€               10,24€             

L7611STDFO Tube Standard for tyre Ø600-24" 8,27€               9,92€               

L7650XXXFO 26 " KIT ROUES AR + RALLONGES 418,59€           502,31€           

L8102LXXAI Left lever anodized 77,80€             93,36€             

L8102RXXAI Right lever anodized 77,80€             93,36€             

L8103LXXAI Left lower seat block 179,86€           215,83€           

L8103RXXAI Right lower seat block 179,86€           215,83€           

L8109X36PN Grip handle cross tube S14" S36-14'' black 91,40€             109,68€           

L8109X40PN Grip handle cross tube S16" S40-16'' black 91,40€             109,68€           

L8109X44PN Grip handle cross tube S44-18" 91,40€             109,68€           

L8109X48PN Grip handle cross tube S20" S48-20'' black 91,40€             109,68€           

L8110XXXAI Gas strut clevis 12,08€             14,50€             

L8500XXXFO Gas cylinder Jack 500 Newtons 50,90€             61,08€             

L9001XXXFO Tray Table 157,17€           188,60€           

L9002LXXCR Left support tube tray 74,91€             89,89€             

L9002RXXCR Right support tube tray 74,91€             89,89€             

L9003XXXCR Depth adjustment tube 60,85€             73,02€             

L9004XXXPN Tray support joint tube 80,84€             97,01€             

L9012XXXFO Side-guard spindle 28,78€             34,54€             

L9015XXXZN Ergo armrest support 72,62€             87,14€             

L9020XXXFO Anti-tip wheels Ø40-1.5'' Pair 40,90€             49,08€             

L9026XXXFO KIT HARNESS FIXATION (PAIR) 5,08€               6,10€               

L9027XXXFO KIT HEADREST HEIGHT SUPPORT 128,70€           154,44€           

L9028XXXFO PERMOBIL HEADREST 332,56€           399,07€           

L9029XXXFO BELT FIXING KIT 144,03€           172,84€           

L9030WHIFO assembly kit (OPTION) 123,42€           148,10€           

L9035WHIPN Whitmyer headrest crossbar 93,43€             112,12€           

L9037XXXAI Adjustment rod 16,44€             19,73€             

L9038XXXFO Casing Ø20 1,12€               1,34€               

L9039XXXPN Headrest crossbar 100,54€           120,65€           

L9040XXXFO Comfort headrest - assembly kit 55,62€             66,74€             

L9070XXXFO THORACIC SUPPORT CUSHION 343,22€           411,86€           

L9071LXXFO LEFT THORACIC SUPPORT KIT 205,99€           247,19€           

L9071RXXFO RIGHT THORACIC SUPPORT KIT 205,99€           247,19€           

L9074XXXFO FIXING TUBE Ø22.2 FOR THORACIC SUPPORT 80,79€             96,95€             

L9075XXXFO Ergonomic armrest 246,29€           295,55€           

L9076XXXFO Ergonomic armrest 246,29€           295,55€           

L9079LXXFO TRUNK SUPPORT LEFT KIT 340,28€           408,34€           

L9079RXXFO TRUNK SUPPORT RIGHT KIT 340,28€           408,34€           

L9079XXXFO Thoracic supports pair 680,41€           816,49€           

L9100LTAFO Complete set to fit joystick on the left with tray 830,78€           996,94€           

L9100LXXFO Complete set to fit joystick on the left (no tray) 765,92€           919,10€           

L9100RTAFO Complete set to fit joystick on the right with tray 831,49€           997,79€           

L9100RXXFO Complete set to fit joystick on the right (no tray) 905,79€           1.086,95€        

L9100XXXFO Complete tray set (Option) 533,84€           640,61€           

L9110XXXPN Tray table support 13,14€             15,77€             

L9111XXXAI Trya table nut 43,44€             52,13€             

L9112XXXZN Tray table spacer 4,92€               5,90€               

L9113XXXZN Special axle 20,15€             24,18€             

L9145XXXFO Double handrim for hemiplegic 24'' MBL 799,21€           959,05€           

L9146XXXAI Plate for hemiplegic kit 42,93€             51,52€             

L9147X48FO TELESCOPIC SHAFT 102,26€           122,71€           

L9147XXXFO TELESCOPIC SHAFT 102,26€           122,71€           

L9150X36FO Separate footplate - flip up size 36 232,13€           278,56€           

L9150X40FO Separate footplate - flip up size 40 232,13€           278,56€           

Seite 20 von 29



* *  Ersatzteilpreisliste LifeStand 2016 - Österreich  * *
                                                  (Version 1, Änderungen und Druckfehler vorbehalten)

Verkaufspreis Verkaufspreis

exkl. MwSt inkl. MwSt
Art. Nummer Beschreibung 1 Beschreibung 2

L9150X44FO Separate footplate - flip up size 44 232,13€           278,56€           

L9150X48FO Separate footplate - flip up size 44 232,13€           278,56€           

L9154XXXFO LEGREST SET LS-LSE 360,88€           433,06€           

L9155X40FO OPTIONAL SINGLE FOOTREST S40 152,25€           182,70€           

L9155X44FO OPTIONAL SINGLE FOOTREST S44 159,10€           190,92€           

L9160X36FO FLIP UP FOOTREST SET S36 2.241,73€        2.690,08€        

L9160X40FO SEPARATE FOOT PLATE FLIP UP AND FOLDAWAY 2.241,73€        2.690,08€        

L9160X44FO FLIP UP FOOTREST SET S44 2.241,73€        2.690,08€        

L9160X48FO FLIP UP FOOTREST SET S48 2.241,73€        2.690,08€        

L9170XXXFO OPTIONAL ARMREST DEEP 225,03€           270,04€           

L9179XCMFO TRUNK SUPPORT M 530,85€           637,02€           

L9179XXLFO TRUNK SUPPORT L 530,85€           637,02€           

L9179XXMFO TRUNK SUPPORT M/L 530,85€           637,02€           

L9179XXSFO TRUNK SUPPORT S 530,85€           637,02€           

LS9001034 OWNER'S MANUEL FR LSCT -€                 -€                 

LS9001035 OWNER'S MANUEL DE LSCT -€                 -€                 

LS9001036 OWNER'S MANUEL SE LSCT -€                 -€                 

LS9001037 OWNER'S MANUEL UK LSCT -€                 -€                 

MP001XXXZN Sleeve1 15,43€             18,52€             

MP004XXXZN Screw H 15,83€             19,00€             

MP005XXXFO Tip tube Ø40 0,24€               0,29€               

MP006XXXFO Special screw N5 7,71€               9,25€               

MP007XXXZN Shoulder axle 6 31,36€             37,63€             

MP008XXXZN Front axle 24,06€             28,87€             

MP010XXXZN Axle 2 20,00€             24,00€             

MP011XXXZN Shoulder axle 1 31,67€             38,00€             

MP012XXXZN Shoulder axle 2 28,17€             33,80€             

MP013XXXZN Shoulder axle 3 19,44€             23,33€             

MP014XXXZN Shoulder axle 5 20,50€             24,60€             

MP015XXXZN Sleeve2 14,62€             17,54€             

MP016XXXZN Fixation axle actuator 27,20€             32,64€             

MP019XXXFO Ball joint end piece M6 18,88€             22,66€             

MP020XXXFO Collar bearing 20-23-10 4,54€               5,45€               

MP021XXXFO Ball bearing 82,37€             98,84€             

MP023XXXFO Adjustment screw D75 2,18€               2,62€               

MP024XXXFO Cable clamp D85C 1,41€               1,69€               

MP025XXXFO Fork head 60003 3,58€               4,30€               

MP026XXXFO Blocking D55 0,68€               0,82€               

MP027XXXFO Cable n°54 - Length 600mm 3,25€               3,90€               

MP028XXXFO Sleeve G25 black - LG 450mm 2,39€               2,87€               

MP031XXXFO Washer hexa 12,28€             14,74€             

MP032XXXZN Axle M12 fixation backrest actuator 40,80€             48,96€             

MP033XXXZN Screw Hm 10x55x14 34,10€             40,92€             

MP035XXXFO Indexation pin M10x1 with lock 4,57€               5,48€               

MP037XXXFO Insert plastic rect. 45x25 M10 2,47€               2,96€               

MP038XXXFO End cover plastic rect. 0,73€               0,88€               

MP039XXXFO LOCK HANDLE M6X20 9,14€               10,97€             

MP042XXXZN Nut front wheel 14,57€             17,48€             

MP043XXXFO Handle foam short 5,13€               6,16€               

MP044XXXFO Handle foam long 11,42€             13,70€             

MP045XXXAI Extension for whitmyer headrest 25,53€             30,64€             

MP100XXXPG MAIN CHASSIS 1.774,52€        2.129,42€        

MP101XXXPN Oscillatory frame 470,05€           564,06€           

MP102XXXPN Tiltable plate 86,33€             103,60€           

MP103XXXZN Disengagement plate rear 47,30€             56,76€             

MP105LXXPG Disengagement plate front left 180,77€           216,92€           

MP105RXXPG Disengagement plate front right 180,77€           216,92€           

MP106LXXPG Disengagement lever front left 68,97€             82,76€             

MP106RXXPG Disengagement lever front right 68,97€             82,76€             

MP108XXXZN Threaded rod tie disengagement 8,58€               10,30€             

MP109XXXPG Lateral plate 18,88€             22,66€             

MP110XXXZN Cover support 19,54€             23,45€             

MP111XXXZN Cover fixation 20,25€             24,30€             

MP112XXXPN Support power module 13,85€             16,62€             

MP113XXXFO HAGON SHOCK ABSORBER 88,51€             106,21€           

MP114LXXZN Blocking lever left 65,16€             78,19€             

MP114RXXZN Blocking lever right 65,16€             78,19€             

MP115XXXZN Connection plate 16,70€             20,04€             

MP116XXXZN Roller 32,94€             39,53€             

MP118XXXFO Washer 4,87€               5,84€               

MP122XXXFO Lower cover for battery box 93,74€             112,49€           

MP123XXXZN support lower cover 16,75€             20,10€             

Seite 21 von 29



* *  Ersatzteilpreisliste LifeStand 2016 - Österreich  * *
                                                  (Version 1, Änderungen und Druckfehler vorbehalten)

Verkaufspreis Verkaufspreis

exkl. MwSt inkl. MwSt
Art. Nummer Beschreibung 1 Beschreibung 2

MP124XXXZN support lateral cover 18,73€             22,48€             

MP126LXXFO Left wing 99,42€             119,30€           

MP127XXXFO CENTRAL STICKER 0,17€               0,20€               

MP128XXXFO LEFT STICKER 16,75€             20,10€             

MP129XXXFO RIGHT STICKER 16,75€             20,10€             

MP200XXXPN Seat structure 416,51€           499,81€           

MP202LXXPN Upper seat arm left 216,60€           259,92€           

MP202RXXPN Upper seat arm right 124,39€           149,27€           

MP203XXXPN Lower seat arm 316,68€           380,02€           

MP204XXXPN Cantilever 438,23€           525,88€           

MP205XXXPN Fixation backrest actuator 152,81€           183,37€           

MP206XXXZN Seat support tube 125,15€           150,18€           

MP207XXXZN Adjustment clamp backrest actuator 105,66€           126,79€           

MP208XXXFO Deflection roller 2 26,90€             32,28€             

MP209XXXFO Deflection roller 3 28,57€             34,28€             

MP210X40PN Seat plate adjustable S40 60,80€             72,96€             

MP210X45PN Seat plate adjustable S45 60,80€             72,96€             

MP210X50PN Seat plate adjustable S50 60,80€             72,96€             

MP211X40PN Seat plate S40 88,61€             106,33€           

MP211X45PN Seat plate S45 88,61€             106,33€           

MP211X50PN Seat plate S50 88,61€             106,33€           

MP212XXXZN Sliding block 110,79€           132,95€           

MP213XXXFO Friction slide 10,10€             12,12€             

MP214XXXZN Clamping piece backrest actuator adj. clamp 39,64€             47,57€             

MP303XXXPN Legrest tie 63,08€             75,70€             

MP304XXXPN Connection rod 2 legrest 63,08€             75,70€             

MP305XXXPN Connecting rod 3 legrest 16,49€             19,79€             

MP306XXXPN Fork head footplate 29,79€             35,75€             

MP307XXXPN MONOBLOC FOOTPLATE FLIP UP 332,87€           399,44€           

MP308XXXPN Sheath knee support 38,42€             46,10€             

MP310XXXFO Stop roller footplate 12,43€             14,92€             

MP313LXXPN Support calf pad left 23,75€             28,50€             

MP313RXXPN Support calf pad right 23,75€             28,50€             

MP314XXXZN Ball joint fixation calf pad 31,82€             38,18€             

MP320XXLPN EXTENDED KNEEREST SUPPORT 302,67€           363,20€           

MP320XXXPN knee support 121,04€           145,25€           

MP321XXXPN Knee support bar adjustable 211,07€           253,28€           

MP323XXXZN Roller support 43,19€             51,83€             

MP351XXXZN Legrest nut 73,44€             88,13€             

MP352XXXZN Rocker legrest reinforced 114,75€           137,70€           

MP353XXXFO LEGREST GIRDER ASSEMBLY COMPLET SET 1.434,45€        1.721,34€        

MP401XXXPN Base frame backrest 321,50€           385,80€           

MP402LXXPN Backsupport left 129,77€           155,72€           

MP402RXXPN Backsupport right 129,77€           155,72€           

MP403XXXPN Cross brace armrest 59,73€             71,68€             

MP406XXXPN Armrest grey alu 4093 118,15€           141,78€           

MP407LXXPN Support armrest left 190,97€           229,16€           

MP407RXXPN Support armrest right 190,97€           229,16€           

MP408LXXAI Armrest catch 100,84€           121,01€           

MP408RXXAI Armrest catch 100,84€           121,01€           

MP409XXXZN LOCKING PIN ARMREST 26,85€             32,22€             

MP410LXXZN LEFT SEETING PIN 31,01€             37,21€             

MP410RXXZN RIGHT SETTING PIN 31,01€             37,21€             

MP412XXXZN Armrest adjustment nut 34,36€             41,23€             

MP413XXXAI Support plate armrest 73,44€             88,13€             

MP414XXXFO Broken ring Ø24 0,39€               0,47€               

MP415XXXPN Backplate 21,32€             25,58€             

MP417XXXFO Tension rope 12,41€             14,89€             

MP419XXXZN Deflection roller on bracket 84,96€             101,95€           

MP420XXXPN Reinforcement plate backrest 70,44€             84,53€             

MP421XXXAI Support fixation backrest 38,01€             45,61€             

MP422XXXAI Fixation clamp backrest 35,83€             43,00€             

MP423XXXZN Support headrest 37,30€             44,76€             

MP424LXXPN Backcover left 16,34€             19,61€             

MP424RXXPN Backcover right 16,34€             19,61€             

MP430XXXFO Telescopic slide rail 301,10€           361,32€           

MP433XXXFO Calf Pad L 59,63€             71,56€             

MP434XXXFO Rubber tension rope avia Ø11 LG 400 28,57€             34,28€             

MP435XXXFO Support ball joint 8,53€               10,24€             

MP443LXXFO Armrest pu left 44,61€             53,53€             

MP443RXXFO Armrest pu right 44,61€             53,53€             

MP445XXXPN Forkhead 2 pantograph 30,86€             37,03€             

Seite 22 von 29



* *  Ersatzteilpreisliste LifeStand 2016 - Österreich  * *
                                                  (Version 1, Änderungen und Druckfehler vorbehalten)

Verkaufspreis Verkaufspreis

exkl. MwSt inkl. MwSt
Art. Nummer Beschreibung 1 Beschreibung 2

MP446XXXAI Rods panto 24,36€             29,23€             

MP447XXXZN Slide plate panto 58,46€             70,15€             

MP448RXXAI Joystick support 70,19€             84,23€             

MP449XXXFO Calf pad M 44,36€             53,23€             

MP450XXXFO Calf pad S 38,06€             45,67€             

MP451XXXFO Fixation angle display 19,39€             23,27€             

MP452XLGFO Flexible display support Ø15X7 166,26€           199,51€           

MP452XXXFO Flexible display support Ø15X7 153,92€           184,70€           

MP453LXXFO JOSTICK DX2 SUPPORT LEFT 35,37€             42,44€             

MP453RXXFO JOSTICK DX2 SUPPORT RIGHT 35,37€             42,44€             

MP500XXXFO Actuator standing & lift LA31 C150 334,85€           401,82€           

MP501XXXFO Actuator backrest LA31 C100 392,96€           471,55€           

MP502XXXFO Actuator tilt LA30 869,09€           1.042,91€        

MP503XXXFO Actuator legrest LA31 C100 502,73€           603,28€           

MP505XXXFO REMOTE 10 FUNCTIONS l 477,15€           572,58€           

MP506XXXFO Support remote control 17,26€             20,71€             

MP507RXXAI REMOTE CONTROL SUPPORT 69,88€             83,86€             

MP512XXXFO Lexan display 34,10€             40,92€             

MP520LXXFO LEFT GB MOTOR 1.590,45€        1.908,54€        

MP520RXXFO RIGHT GB MOTOR 1.590,45€        1.908,54€        

MP522XXXFO GB WHEEL HUB 53,19€             63,83€             

MP525XXXFO SWITCH SHEET 3,05€               3,66€               

MP526XXXFO BUTTON SHEET 2,18€               2,62€               

MP701XXXAI Axle bearing 131,29€           157,55€           

MP704XXXFO INNOVA TYRE 3.00-8 - IA2804 58,26€             69,91€             

MP705XXXFO INNOVA TUBE 3.00-8 22,38€             26,86€             

MP706XXXZN Fork axle 33,55€             40,26€             

MP707XXXFO WHEEL 2.80/2.50-4"' - IA2802 PNEUMATIC 121,19€           145,43€           

MP708XXXFO TYRE 2.80/2.50 163,06€           195,67€           

MP710XXXFO TYRE 2.80/2.50-4 GREY 27,25€             32,70€             

MP711XXXFO INNER TUBE 2.50-4 7,41€               8,89€               

MP904XXXFO FRONT LIGHT WIRE 34,26€             41,11€             

MP906XXXFO Light + Flashlight rear 122,87€           147,44€           

MP907XXXFO Decorative cap rear light 31,11€             37,33€             

MP908XXXFO Headlamp Hella FF 23,40€             28,08€             

MP911XXXPN Angle bracket side support 21,97€             26,36€             

MP912XXXAI Nut 1 side support 32,73€             39,28€             

MP913XXXFO Axle side support 46,69€             56,03€             

MP914XXXAI Nut 2 side support 28,01€             33,61€             

MP915XXXPN Support side support 24,87€             29,84€             

MP921LXXPN Angle bracket elbow support left 35,63€             42,76€             

MP921RXXPN Angle bracket elbow support right 35,63€             42,76€             

MP924XXXZN Ball joint fixation calf pad 39,59€             47,51€             

MP931XXXAI Push handle nut 44,81€             53,77€             

MP932XXXPN Push handle tube 54,10€             64,92€             

MP933XXXPN Push rod 101,55€           121,86€           

MP934XXXPN Fixation plate push handle nut 16,34€             19,61€             

MP941XCOFO Work table width adjustable armrest 1->4 198,74€           238,49€           

MP941XLGFO Tray table width adjustable armrest 5->7 201,68€           242,02€           

MP944XXXAI Support pectoral bar - tray table 107,39€           128,87€           

MP945XXXZN Support tray table 89,52€             107,42€           

MP946LXXZN Pivot left 176,31€           211,57€           

MP946RXXZN Pivot right 176,31€           211,57€           

MP947XXXZN Tray table support width adjustment 53,49€             64,19€             

MP948XLGZN Reinforcement bar tray table 5-6-7 59,58€             71,50€             

MP949XXXZN Fixation plate clamp PA DIAM 22 24,72€             29,66€             

MP951XXXZN Nut pectoral bar 22,99€             27,59€             

MP952XXXFO Tube pectoral bar 49,74€             59,69€             

MP956XXXPN Adjustment tube pectoral bar 34,76€             41,71€             

MP957XXXAI Sleeve pectoral bar 48,87€             58,64€             

MP961LXXZN Support LSC armrest left 334,65€           401,58€           

MP961RXXZN Support LSC armrest right 334,65€           401,58€           

MP965XXXAI Clamp Whitmyer headrest 42,12€             50,54€             

MP971LXXAI Adapter plate LSC footplate left 78,87€             94,64€             

MP971RXXAI Adapter plate LSC footplate right 77,50€             93,00€             

N-BA600100L Flat free tyre Ø 24" x 1" Glossy finish 28,47€             34,16€             

N-BA600138C SOLY POLY 24"x1"3/8 28,47€             34,16€             

N-BA600138L Flat free tyre 24"x1"3/8 Glossy finish 28,47€             34,16€             

N-COEVO01 VARILITE EVOLUTION 12 X 14 572,56€           687,07€           

N-COEVO02 VARILITE EVOLUTION 14 X 14 572,56€           687,07€           

N-COEVO03 VARILITE EVOLUTION 14 X 16 572,56€           687,07€           

N-COEVO035 VARILITE EVOLUTION 14 X 18 572,56€           687,07€           

Seite 23 von 29



* *  Ersatzteilpreisliste LifeStand 2016 - Österreich  * *
                                                  (Version 1, Änderungen und Druckfehler vorbehalten)

Verkaufspreis Verkaufspreis

exkl. MwSt inkl. MwSt
Art. Nummer Beschreibung 1 Beschreibung 2

N-COEVO04 VARILITE EVOLUTION 16 X 16 572,56€           687,07€           

N-COEVO05 VARILITE EVOLUTION 16 X 18 572,56€           687,07€           

N-COEVO06 VARILITE EVOLUTION 16 X 20 572,56€           687,07€           

N-COEVO065 VARILITE EVOLUTION 17 X 17 572,56€           687,07€           

N-COEVO07 VARILITE EVOLUTION 18 X 16 572,56€           687,07€           

N-COEVO08 VARILITE EVOLUTION 18 X 18 572,56€           687,07€           

N-COEVO09 VARILITE EVOLUTION 18 X 20 572,56€           687,07€           

N-COEVO10 VARILITE EVOLUTION 20 X 16 572,56€           687,07€           

N-COEVO11 VARILITE EVOLUTION 20 X 18 572,56€           687,07€           

N-COEVO12 VARILITE EVOLUTION 20 X 20 572,56€           687,07€           

N-COEVO13 Varilite EVOLUTION back14 tall 691,93€           830,32€           

N-COEVO14 Varilite EVOLUTION backrest 15 691,93€           830,32€           

N-COEVO15 Varilite EVOLUTION back16 tall 691,93€           830,32€           

N-COEVO16 Varilite EVOLUTION back17 tall 691,93€           830,32€           

N-COEVO17 Varilite EVOLUTION back18 tall 691,93€           830,32€           

N-COEVO18 Varilite EVOLUTION back20 tall Varilite EVOLUTION back20 tall 691,93€           830,32€           

N-COEVO19 Varilite EVOLUTION back12 tall 691,93€           830,32€           

N-COEVO190 INCONTINENCE COVER 14X14 150,78€           180,94€           

N-COEVO191 INCONTINENCE COVER 14X16 150,78€           180,94€           

N-COEVO201 INCONTINENCE COVER 16X16 150,78€           180,94€           

N-COEVO202 INCONTINENCE COVER 16X18 150,78€           180,94€           

N-COEVO203 INCONTINENCE COVER 16X20 150,78€           180,94€           

N-COEVO210 INCONTINENCE COVER 18X16 150,78€           180,94€           

N-COEVO211 INCONTINENCE COVER 18X18 150,78€           180,94€           

N-COEVO212 INCONTINENCE COVER 18X20 150,78€           180,94€           

N-COEVO220 INCONTINENCE COVER 20X16 150,78€           180,94€           

N-COEVO221 INCONTINENCE COVER 20X18 150,78€           180,94€           

N-COEVO222 INCONTINENCE COVER 20X20 150,78€           180,94€           

N-COEVO24 HARDWARE KIT 183,61€           220,33€           

N-COEVO300 COVER CUSHION BACK TALL 20 154,58€           185,50€           

N-COEVO301 COVER CUSHION BACK TALON 18" 173,92€           208,70€           

N-COEVO302 COVER CUSHION BACK TALL 16 154,58€           185,50€           

N-COEVO303 CUSHION BACK TALL 16 240,00€           288,00€           

N-COEVO304 COVER CUSHION BACK TALL 18 154,58€           185,50€           

N-COEVO305 INCONTINENCE COVER 18X18 150,78€           180,94€           

N-COEVO306 CUSHION BACK TALL 18 240,00€           288,00€           

N-COEVO32 Varilite EVOLUTION backrest 12 STANDARD 612,35€           734,82€           

N-COEVO33 Varilite EVOLUTION backrest 14 612,35€           734,82€           

N-COEVO34 Varilite EVOLUTION backrest 15 612,35€           734,82€           

N-COEVO35 Varilite EVOLUTION back16 reg. 612,35€           734,82€           

N-COEVO36 Varilite EVOLUTION backrest 17 612,35€           734,82€           

N-COEVO37 Varilite EVOLUTION back 18 reg 612,35€           734,82€           

N-COEVO38 Varilite EVOLUTION back 20 reg 612,35€           734,82€           

N-COEVO43 Varilite EVOLUTION back14 deep 916,85€           1.100,22€        

N-COEVO44 Varilite EVOLUTION back15 deep 916,85€           1.100,22€        

N-COEVO45 EVOLUTION BACKREST DEEP 16'' 40 CM 916,85€           1.100,22€        

N-COEVO46 Varilite EVOLUTION back17 deep 916,85€           1.100,22€        

N-COEVO47 Varilite EVOLUTION back18 deep 916,85€           1.100,22€        

N-COEVO48 Varilite EVOLUTION backrest 20 916,85€           1.100,22€        

N-COEVO58 VARILITE EVOLUTION 15 X 17 679,80€           815,76€           

N-COMER001 Varilite MERIDIAN 16x16 589,66€           707,59€           

N-COMER002 Varilite MERIDIAN 16x18 589,66€           707,59€           

N-COMER003 Varilite MERIDIAN 18x18 589,66€           707,59€           

N-COMER004 Varilite MERIDIAN 18x20 589,66€           707,59€           

N-COMER005 Varilite MERIDIAN 16x20 589,66€           707,59€           

N-COMER006 Varilite MERIDIAN 17X17 589,66€           707,59€           

N-COMER007 COVER MERIDIAN 18x18 150,78€           180,94€           

N-COMER008 COVER MERIDIAN 16x16 150,78€           180,94€           

N-COSTR01 VARILITE STRATUS 12 X 12 331,75€           398,10€           

N-COSTR02 VARILITE STRATUS 12 X 14 331,75€           398,10€           

N-COSTR03 VARILITE STRATUS 14 X 14 331,75€           398,10€           

N-COSTR04 VARILITE STRATUS 14 X 16 331,75€           398,10€           

N-COSTR05 VARILITE STRATUS 16 X 16 331,75€           398,10€           

N-COSTR06 VARILITE STRATUS 16 X 18 331,75€           398,10€           

N-COSTR07 VARILITE STRATUS 17 X 17 331,75€           398,10€           

N-COSTR08 VARILITE STRATUS 18 X 16 331,75€           398,10€           

N-COSTR09 VARILITE STRATUS 18 X 18 331,75€           398,10€           

N-COSTR10 VARILITE STRATUS 20 X 18 331,75€           398,10€           

N-COSTR11 VARILITE STRATUS 20 X 20 331,75€           398,10€           

N-COSTR12 COVER CUSHION STRATUS 17x17 120,79€           144,95€           

N-COSTR13 VARILITE STRATUS 18 X 20 331,75€           398,10€           

N-COSTR14 INCONT. COVER STRATUS 16X16 120,79€           144,95€           

Seite 24 von 29



* *  Ersatzteilpreisliste LifeStand 2016 - Österreich  * *
                                                  (Version 1, Änderungen und Druckfehler vorbehalten)

Verkaufspreis Verkaufspreis

exkl. MwSt inkl. MwSt
Art. Nummer Beschreibung 1 Beschreibung 2

N-COSTR15 INCONT. COVER STRATUS 14X16 120,79€           144,95€           

N-COSTR16 INCONT. COVER STRATUS 20X18 120,79€           144,95€           

N-COSTR17 INCONT. COVER STRATUS 16X18 120,79€           144,95€           

N-COSTR18 INCONT. COVER STRATUS 18X18 120,79€           144,95€           

N-COZOI01 VARILITE ZOID 14 X 14 572,56€           687,07€           

N-COZOI02 VARILITE ZOID 14 X 16 572,56€           687,07€           

N-COZOI03 VARILITE ZOID 16 X 16 572,56€           687,07€           

N-COZOI04 VARILITE ZOID 16 X 18 572,56€           687,07€           

N-COZOI05 VARILITE ZOID 18 X 18 572,56€           687,07€           

N-COZOI06 VARILITE ZOID 18 X 16 572,56€           687,07€           

N-COZOI07 VARILITE ZOID 20 X 18 572,56€           687,07€           

N-COZOI08 VARILITE ZOID 20 X 20 572,56€           687,07€           

N-COZOI09 VARILITE ZOID 18 X 20 572,56€           687,07€           

N-COZOI10 COVER ZOID 14X14 150,78€           180,94€           

N-COZOI11 COVER ZOID 14X16 150,78€           180,94€           

N-COZOI12 COVER ZOID 16X16 150,78€           180,94€           

N-COZOI13 COVER ZOID 16X18 150,78€           180,94€           

N-COZOI14 COVER ZOID 18X18 150,78€           180,94€           

N-COZOI15 VARILITE ZOID 12 X 8 VARILITE ZOID 12 X 8 572,56€           687,07€           

N-COZOI16 VARILITE ZOID 12 X 12 VARILITE ZOID 12 X 12 572,56€           687,07€           

N-COZOI17 VARILITE ZOID 12 X 14 VARILITE ZOID 12 X 14 572,56€           687,07€           

N-COZOI18 VARILITE ZOID 15 X 17 572,56€           687,07€           

N-COZOI19 VARILITE ZOID 14 X 18 572,56€           687,07€           

N-COZOI20 VARILITE ZOID 16 X 20 572,56€           687,07€           

N-COZOI21 VARILITE ZOID 17 X 17 572,56€           687,07€           

N-COZOI22 VARILITE ZOID 20 X 16 572,56€           687,07€           

N-CT01 Small Trunk support (pair) Varilite back 30 cm 366,16€           439,39€           

N-CT02 Small Trunk support S36 Varilite back 330,13€           396,16€           

N-CT03 Small Trunk support Varilite back 35-37 cm 724,66€           869,59€           

N-CT22 44-48 Trunk support Varilite back 336,78€           404,14€           

N-CT31 CONTOURED PAD 7.5X10 SIZE 3"X4" 144,99€           173,99€           

N-CT32 CONTOURED PAD 10X13 SIZE 4"X5" 144,99€           173,99€           

N-CT33 CONTOURED PAD 13x15 SIZE 5"X6" 144,99€           173,99€           

N-POBAS01 Two points padded hip belt with rear pull S 188,94€           226,73€           

N-POBAS04 Two points padded hip belt with center pull L 164,94€           197,93€           

N-POBAS06 Two point Hip Belts  Plastic push button 120,23€           144,28€           

N-POBAS07 with center pull S 2 POINTS PADDED HIP BELT 164,94€           197,93€           

N-POBAS08 Two points hip belt with center pull L 103,07€           123,68€           

N-POBAS10 Four points padded hip belt with rear pull M 243,90€           292,68€           

N-POBAS11 4 POINTS PADDED HIP BELT with rear pull S 237,10€           284,52€           

N-POBAS12 Four points padded hip belt with center pull L 226,75€           272,10€           

N-POBAS13 Four points padded hip belt with center pull M 219,95€           263,94€           

N-POBAS14 FOUR POINTS PADDED HIP BELT with center pull XS 213,05€           255,66€           

N-POBAS15 Two points padded hip belt with dual pull XS 106,52€           127,82€           

N-POBAS21 Four points padded leg belt with center pull S 151,18€           181,42€           

N-POBAS22 Four points padded leg belt with center pull M 161,49€           193,79€           

N-POBAS30 With center pull M Two points padded hip belt 76,38€             91,66€             

N-POBAS31 Two points padded hip belt with center pull L 143,57€           172,28€           

N-POCHE01 Fixed mount kit 30,75€             36,90€             

N-POCHE02 Ankle huggers L (pair) 233,65€           280,38€           

N-POCHE03 Ankle huggers M (pair) 233,65€           280,38€           

N-POCHE04 Ankle huggers S 223,30€           267,96€           

N-POCHE05 Ankle huggers XL 240,45€           288,54€           

N-POCHE06 Ankle huggers M 233,65€           280,38€           

N-POCHE07 Ankle huggers L 233,65€           280,38€           

N-POCHE08 Ankle huggers S 223,30€           267,96€           

N-POCHE10 30,75€             36,90€             

N-POCHE11 30,75€             36,90€             

N-POCHE12 Ankle huggers XS 223,30€           267,96€           

N-POCOU01 Slip-on pads length 35,83€             43,00€             

N-POCOU02 Slip-on pads Length 31,06€             37,27€             

N-POCOU03 Slip-on pads Length 28,72€             34,46€             

N-POCOU04 Slip-on pads Length 26,34€             31,61€             

N-POCOU05 Slip-on pads Length 23,90€             28,68€             

N-PODOS01 Framesaver Clamp   Fits Ø 25 27,44€             32,93€             

N-PODOS02 SECURITY FOR REG. BELT 44,66€             53,59€             

N-PODOS03 SECURITY FOR SMALL  BELT 44,66€             53,59€             

N-POJOY01 JOYSTICK HANDLE U SHAPED 3" 92,82€             111,38€           

N-POJOY02 JOYSTICK HANDLE U SHAPED 4" 92,82€             111,38€           

N-POJOY04 JOYSTICK HANDLE FLEX SHAFT 75,62€             90,74€             

N-POJOY05 JOYSTICK HANDLE TAPERED RUBBER GRIP 89,37€             107,24€           

N-POMOL05 PADDED CALF PANEL M 96,27€             115,52€           

Seite 25 von 29



* *  Ersatzteilpreisliste LifeStand 2016 - Österreich  * *
                                                  (Version 1, Änderungen und Druckfehler vorbehalten)

Verkaufspreis Verkaufspreis

exkl. MwSt inkl. MwSt
Art. Nummer Beschreibung 1 Beschreibung 2

N-POMOL06 PADDED CALF PANEL L 96,27€             115,52€           

N-POTRO05 Standard front pull shoulder harness L 219,95€           263,94€           

N-POTRO06 Standard front pull shoulder harness M (pair) 206,15€           247,38€           

N-POTRO08 Standard front pull shoulder harness XL 219,95€           263,94€           

N-POTRO20 254,26€           305,11€           

N-POTRO21 STAYFLEX Chest strap size M 261,06€           313,27€           

N-POTRO22 STAYFLEX CHESTBELT L 274,61€           329,53€           

N-POTRO23 STAYFLEX CHEST BELT X 281,71€           338,05€           

N-POTRO31 STAYFLEX CHESTBELT M 261,06€           313,27€           

N-POTRO32 STAYFLEX CHESTBELT 274,86€           329,83€           

N-POTRO33 STAYFLEX CHESTBELT XL 281,71€           338,05€           

N-WHIT01 Core system Lightweight 143,12€           171,74€           

N-WHIT01-00 Core system Lightweight 68,21€             81,85€             

N-WHIT02 Core system Onyx 151,18€           181,42€           

N-WHIT02-00 Core system Onyx 73,89€             88,67€             

N-WHIT03 Core system Pro 297,80€           357,36€           

N-WHIT03-00 Core system Pro 119,31€           143,17€           

N-WHIT03-01 Mounting bracket Pro 170,42€           204,50€           

N-WHIT04 Core system Linx 251,06€           301,27€           

N-WHIT04-00 Core system Linx 96,63€             115,96€           

N-WHIT04-01 Mounting brakcet Linx 159,10€           190,92€           

N-WHIT05 Plush pad 8'' 154,74€           185,69€           

N-WHIT06 Plush pad 10'' 579,41€           695,29€           

N-WHIT06-LSM COBRA MOUNT + PLUSH PAD 663,45€           796,14€           

N-WHIT09 Contoured Cradle pad - small 132,25€           158,70€           

N-WHIT10 Contoured Cradle pad - medium 357,89€           429,47€           

N-WHIT11 Contoured Cradle pad - large 151,18€           181,42€           

N-WHIT12 Pediatric occipital pad P500 2 1/4''x5'' 93,58€             112,30€           

N-WHIT14 Right sub-occipital pad Size 1 93,58€             112,30€           

N-WHIT15 Left sub-occipital pad Size 1 93,58€             112,30€           

N-WHIT16 Right sub-occipital pad Size 3 95,41€             114,49€           

N-WHIT17 Left sub-occipital pad Size 3 95,41€             114,49€           

N-WHIT20 Adult and Pediatric base plate assembly 84,60€             101,52€           

N-WHIT31 Forehead strap Dynamic Adult 188,94€           226,73€           

N-WHIT33 Anterior support 93,58€             112,30€           

N-WHIT34 Swingaway mounting bracket 97,19€             116,63€           

N-WHIT41 Ballrod 0.39'' incurved lateral 127,79€           153,35€           

N-WHIT59 COBRA XTRA MOUNT. SYSTEM ADULT 288,92€           346,70€           

O1000LXXAB ANODIC BRONZE LEFT CHASSIS LSCT 273,49€           328,19€           

O1000LXXAN ANODIC BLACK LEFT CHASSIS LSCT 273,49€           328,19€           

O1000LXXBL WHITE LEFT FRAME 273,49€           328,19€           

O1000LXXGW ANODIC WHITE LEFT CHASSIS LSCT 273,49€           328,19€           

O1000LXXPB LEFT MOULDED FRAME-BLUE 273,49€           328,19€           

O1000LXXPN LEFT MOULDED FRAME-BLACK 273,49€           328,19€           

O1000LXXPR LEFT MOULDED FRAME-RED 273,49€           328,19€           

O1000RXXAB ANODIC BRONZE RIGHT CHASSIS LSCT 273,49€           328,19€           

O1000RXXAN ANODIC BLACK RIGHT CHASSIS LSCT 273,49€           328,19€           

O1000RXXBL WHITE RIGHT FRAME 273,49€           328,19€           

O1000RXXGW ANODIC WHITE RIGHT CHASSIS LSCT 273,49€           328,19€           

O1000RXXPB RIGHT  MOULDED FRAME-BLUE 273,49€           328,19€           

O1000RXXPN RIGHT  MOULDED FRAME-BLACK 273,49€           328,19€           

O1000RXXPR RIGHT  MOULDED FRAME-RED 273,49€           328,19€           

O1001XXXPN WELDED CHASSIS - BLACK 983,84€           1.180,61€        

O1002XXXPN HOLDER PLATE 45,47€             54,56€             

O1003XXXPN PM HOLDER 21,62€             25,94€             

O1004LXXFO LEFT FRONT CASING 34,15€             40,98€             

O1004RXXFO RIGHT FRONT CASING 34,15€             40,98€             

O1005LXXPN LEFT LIGHT HOLDER 17,15€             20,58€             

O1005RXXPN RIGHT LIGHT HOLDER 17,15€             20,58€             

O1006XXXPN HOUSING FASTENER 21,62€             25,94€             

O1007XXXFO ANTI ROTATE LOCKING WASHER 61,20€             73,44€             

O1008EXXFO LOCKING NUT 5,63€               6,76€               

O1008XXXFO LOCKING 60,24€             72,29€             

O1009XXXFO LOCKING OPTION FRONT FORKS LSO 253,90€           304,68€           

O1010XXXPN BUMPER - BLACK 276,18€           331,42€           

O1011LXXPN LEFT SWINGARM - BLACK 206,76€           248,11€           

O1011RXXPN RIGHT SWINGARM - BLACK 206,76€           248,11€           

O1030XXXFO SHOCK ABSORBER REAR SHOCK 125MM 850 lbs 15,43€             18,52€             

O1081XXXZN CHASSIS SPACER 8,98€               10,78€             

O1082XXXZN AXLE N°9 30,09€             36,11€             

O2001LXXPN LEFT LOWER TUBE - BLACK 68,56€             82,27€             

O2001RXXPN RIGHT LOWER TUBE - BLACK 100,64€           120,77€           

Seite 26 von 29



* *  Ersatzteilpreisliste LifeStand 2016 - Österreich  * *
                                                  (Version 1, Änderungen und Druckfehler vorbehalten)

Verkaufspreis Verkaufspreis

exkl. MwSt inkl. MwSt
Art. Nummer Beschreibung 1 Beschreibung 2

O2002LXXPN LEFT UPPER TUBE - BLACK 162,25€           194,70€           

O2002RXXPN RIGHT UPPER TUBE - BLACK 162,25€           194,70€           

O2002XXXPN SEAT FRAME - BLACK 279,78€           335,74€           

O2003XXXPN SEAT UPPER ARM - BLACK 255,88€           307,06€           

O2004XXXPN SEAT LOWER ARM - BLACK 224,42€           269,30€           

O2005XXXPN SEAT FRONT ARM - BLACK 232,28€           278,74€           

O2006XXXAI CROSSHEAD 89,83€             107,80€           

O2007XXXPN LEGREST ACTUATOR SPINDLE 72,42€             86,90€             

O2008XXXAI CONNECTING ROD N° 4 47,96€             57,55€             

O2009XXXAI CONNECTING ROD N° 1 17,71€             21,25€             

O2010X36PN REAR SEAT PLATE S36 REAR SEAT PLATE T.36 53,44€             64,13€             

O2010X40PN REAR SEAT PLATE S40 REAR SEAT PLATE T.40 53,44€             64,13€             

O2010X44PN REAR SEAT PLATE S44 REAR SEAT PLATE T.44 53,44€             64,13€             

O2010X48PN REAR SEAT PLATE S48 REAR SEAT PLATE T.48 53,44€             64,13€             

O2010XXXFO SEAT ANTI PINCHING 16,54€             19,85€             

O2011X36PN FRONT SEAT PLATE S36 FRONT SEAT PLATE T36 55,67€             66,80€             

O2011X40PN FRONT SEAT PLATE S40 FRONT SEAT PLATE T40 55,67€             66,80€             

O2011X44PN FRONT SEAT PLATE S44 FRONT SEAT PLATE T44 55,67€             66,80€             

O2011X48PN FRONT SEAT PLATE S48 FRONT SEAT PLATE T48 55,67€             66,80€             

O2011XXXFO RIGHT LEGREST ANTIPINCHING 12,18€             14,62€             

O2012XXXFO LEFT LEGREST ANTIPINCHING 12,18€             14,62€             

O2081XXXZN AXLE N°8 20,30€             24,36€             

O2083XXXZN AXLE N°4 22,89€             27,47€             

O2084XXXZN AXLE N°3 21,67€             26,00€             

O2085XXXZN AXLE N°2 21,72€             26,06€             

O2086XXXZN AXLE D8-44-11 11,27€             13,52€             

O2087XXXZN AXLE N°10 30,55€             36,66€             

O3001XXXPN LEGREST BEAM - BLACK 216,45€           259,74€           

O3002XXXPN LEGREST SWIVEL LEVER - BLACK 273,44€           328,13€           

O3003LXXPN LEFT KNEEREST HOLDER - BLACK 113,02€           135,62€           

O3003RXXPN RIGHT KNEEREST HOLDER - BLACK 113,02€           135,62€           

O3004XXXAI CONNECTING ROD N°3 17,15€             20,58€             

O3005XXXZN CONNECTING ROD 37,10€             44,52€             

O3010XXXPN CALFPAD HOLDER 17,10€             20,52€             

O3045L36PN LEFT KNEEREST TUBE T36 - BLACK 131,59€           157,91€           

O3045L40PN LEFT KNEEREST TUBE T40 - BLACK 131,59€           157,91€           

O3045L44PN LEFT KNEEREST TUBE T44 - BLACK 131,59€           157,91€           

O3045L48PN LEFT KNEEREST TUBE T48 - BLACK 131,59€           157,91€           

O3045R36PN RIGHT KNEEREST TUBE T36 -BLACK 83,33€             100,00€           

O3045R40PN RIGHT KNEEREST TUBE T40 -BLACK 83,33€             100,00€           

O3045R44PN RIGHT KNEEREST TUBE T44 -BLACK 83,33€             100,00€           

O3045R48PN RIGHT KNEEREST TUBE T48 -BLACK 83,33€             100,00€           

O3080XXXZN AXLE N° 7 18,07€             21,68€             

O3140XXXAI KNEE PAD SLEEVE anti rotate Footrest side 46,64€             55,97€             

O3141XXXAI anti rotate ring LSO 48,67€             58,40€             

O4001X36PN BACK. ACTUATOR LOWER BEAM T36 284,91€           341,89€           

O4001X40PN BACK. ACTUATOR LOWER BEAM T40 284,91€           341,89€           

O4001X44PN BACK. ACTUATOR LOWER BEAM T44 284,91€           341,89€           

O4001X48PN BACK. ACTUATOR LOWER BEAM T48 284,91€           341,89€           

O4050XXXZN BACKREST PIVOT 99,83€             119,80€           

O4052C36PN BACKREST SHORT FRAME T36 BLACK 250,10€           300,12€           

O4052C40PN BACKREST SHORT FRAME T40 BLACK 250,10€           300,12€           

O4052C44PN BACKREST SHORT FRAME T44 BLACK 250,10€           300,12€           

O4052X36PN BACKREST FRAME T 36 - BLACK 234,47€           281,36€           

O4052X40PN BACKREST FRAME T 40 - BLACK 234,47€           281,36€           

O4052X44PN BACKREST FRAME T 44 - BLACK 234,47€           281,36€           

O4052X48PN BACKREST FRAME T 48 - BLACK 234,47€           281,36€           

O4076XXXPN ATTENDANT CONTROL SUPPORT FOR PGDT VR2 AND RNET 35,27€             42,32€             

O5001XXXPN SWITCH STOP 17,36€             20,83€             

O5002XXXPN SWITCH HOLDER 20,30€             24,36€             

O5003XXXAI SWITCH COLLAR 50,60€             60,72€             

O5004XXXFO Battery 12V 65Ah 288,72€           346,46€           

O5022XXXFO JOYSTICK DX2-REM550 965,67€           1.158,80€        

O5023XXXAI JOYSTICK HOLDER 33,55€             40,26€             

O5030XXXAI PGDT JOYSTICK HOLDER 47,50€             57,00€             

O5031XXXFO POWER MODULE R-NET W/O CABLE 801,70€           962,04€           

O5032XXXFO PGDT RNET JOYSTICK D51229.03 714,61€           857,53€           

O5034XXXFO PGDT DUAL ATTENDANT MODULE 707,05€           848,46€           

O5035XXXFO BUS CABLE 0.5M 50,85€             61,02€             

O5037XXXFO PGDT BATTERY CONNECTOR KIT 8,58€               10,30€             

O5038MONTE SPEED LIMIT CABLE 69,88€             83,86€             

O5038XXXFO PGDT INHIBIT CONNECTOR KIT 2,23€               2,68€               

Seite 27 von 29



* *  Ersatzteilpreisliste LifeStand 2016 - Österreich  * *
                                                  (Version 1, Änderungen und Druckfehler vorbehalten)

Verkaufspreis Verkaufspreis

exkl. MwSt inkl. MwSt
Art. Nummer Beschreibung 1 Beschreibung 2

O5039XXXFO PGDT R-NET ISM PGDT ISM - 6L 514,30€           617,16€           

O5040MONTE STANDUP ACTUATOR 376,82€           452,18€           

O5040XXXFO PGDT ACTUATOR CONNECTOR KIT 2,23€               2,68€               

O5041XXXFO PGDT LIGHTING CONNECTOR KIT 8,93€               10,72€             

O5042MONTE Backrest actuator 284,81€           341,77€           

O5043MONTE Legrest actuator 617,93€           741,52€           

O5044MONTE ELECTRICAL HARNESS Beam cables legrest R-net 71,86€             86,23€             

O5045XXXFO PGDT BUS CABLE 2.5M 53,49€             64,19€             

O5046XXXFO Electrical harness + fuse box 103,43€           124,12€           

O5047XXXFO ELECTRICAL HARNESS STAND UP ACTUATOR TO ISM 107,08€           128,50€           

O5048XXXFO PGDT BUS CABLE 1M 65,16€             78,19€             

O5049XXXFO HUB 4 SOCKETS R-NET D50829 29,08€             34,90€             

O5101XXXFO DONGLE DEALER R-NET 294,76€           353,71€           

O5102XXXFO R-NET DEALER  PROGRAMM 351,90€           422,28€           

O5104XXXFO KIT DONGLE+ PROG DEALER R-NET D50612+D60609 646,66€           775,99€           

O5107XXXFO KIT COMPACT JOYSTICK 2.059,44€        2.471,33€        

O7001LXXPN LEFT WHEELFORK ONE ARM FORK LEFT WHEEL FORK 113,32€           135,98€           

O7001RXXPN Right wheel one arm fork black 113,32€           135,98€           

O7002XXXZN LOCKING WASHER 26,95€             32,34€             

O7003XXXZN FRONT WHEEL SPACER 12,38€             14,86€             

O7004XXXZN BEARING SPACER 9,19€               11,03€             

O7005XXXZN FRONT WHEEL AXLE 30,20€             36,24€             

O7008XXXFO WHEEL 2.80/2.50-4"- ALU RIM LSCO 163,92€           196,70€           

O7009XXXFO O-Ring 26x3 1,42€               1,70€               

O9002XXXFO SPACER 6/6 BLACK PA 7,26€               8,71€               

O9010XSHFO KIT SIDE GUARDS SHORT (PAIR) 169,20€           203,04€           

O9010XXXFO KIT SIDE GUARDS LONG (PAIR) 184,48€           221,38€           

RON-L8ZN L8 washer 0,10€               0,12€               

RON-LL3ZN L3 very large washer 0,10€               0,12€               

RON-LL6ZN FENDER WASHER Ø6 M6 washer 0,08€               0,10€               

RON-LL8ZN M8 washer 0,15€               0,18€               

RON-M10EPAI-PLASPLAIN HEAVY WASHER Ø10 PLASTIC 0,28€               0,34€               

RON-M10FINEZN PLAIN THIN WASHER Ø10 M10 washer 1,57€               1,88€               

RON-M10ZN PLAIN WASHER Ø10 0,12€               0,14€               

RON-M12ZN PLAIN WASHER Ø12 0,15€               0,18€               

RON-M3ZN PLAIN WASHER Ø3 0,02€               0,02€               

RON-M4ZN PLAIN WASHER Ø4 0,02€               0,02€               

RON-M5ZN M5 washer 0,02€               0,02€               

RON-M6ZN PLAIN WASHER Ø6 0,02€               0,02€               

RON-M8FINEZN PLAIN THIN WASHER Ø8 1,16€               1,39€               

RON-M8ZN PLAIN WASHER Ø8 0,04€               0,05€               

RON-OND10D ONDUFLEX WASHER Ø10 TYPE D Ø 10 washer type D 0,15€               0,18€               

RON-OND8D Ø 8 washer type D 0,11€               0,13€               

RON-RES5S SPRING WASHER Ø5 TYPE S 0,11€               0,13€               

RON-RES6S SPRING WASHER Ø6 TYPE S 0,12€               0,14€               

RON-Z10FINEPLAS NARROW THIN WASHER Ø10 NYLON 0,14€               0,17€               

RON-Z12FINEPLAS NARROW THIN WASHER Ø12 NYLON 0,15€               0,18€               

RON-Z8FINEPLAS M8 nylon washer 0,37€               0,44€               

SAV001 REMOTE CONTROL WIRE TO WELD 26,90€             32,28€             

SAV003 REMOTE CONTROL WIRE WITH CONNECTOR 26,90€             32,28€             

SE520XXXFO 12V 46AH BATTERY 335,81€           402,97€           

SE526XXXFO 2.5M COMMS CABLE 61,10€             73,32€             

SM900LXXFO LEFT MOTOR 300W 624,83€           749,80€           

SM905XXXFO REMOTE CONTROL SME-K 68,21€             81,85€             

SM909XXXFO BATTERY CONTROL BOX SME-K 173,82€           208,58€           

SM910XXXFO ACTUATOR SMFE-K 227,26€           272,71€           

SM912LXXFO LEFT PENTOGRAPH SMFE-K 454,42€           545,30€           

SM917XXXFO Casing Ø18 0,68€               0,82€               

SM918XXXFO GAS STRUT LIFTLINE SME-K 101,70€           122,04€           

SM919XXXFO BATTERY CONTROL BOX DIN8 SME-K 173,82€           208,58€           

SM920XXXFO REMOTE CONTROL DIN8 SME-K 68,21€             81,85€             

SX020XXXFO Gripscrew 1,54€               1,85€               

SX302XXXPN Knee pad rest Black 48,47€             58,16€             

SX401XXXFO PU ARMREST 27,56€             33,07€             

SX701XXXFO TWIN SWIVEL WHEEL Ø65 38,47€             46,16€             

SX900X40FO THERAPY TABLE SIZE 40 8mm 204,52€           245,42€           

SX900X44FO THERAPY TABLE SIZE 44&48 8mm 204,52€           245,42€           

SX912XXXFO PU ARMREST LARGE 26,75€             32,10€             

VIS-AUT3.9X19ZN COUNTERSUNK SELF DRILL.SCREW 3.9X19 0,31€               0,37€               

VIS-CBHC5X10ZN button-headed screw M5x10 0,23€               0,28€               

VIS-CBHC5X12ZN button-headed screw M5x12 0,22€               0,26€               

VIS-CBHC5X20ZN button-headed screw M5x20 0,42€               0,50€               

Seite 28 von 29



* *  Ersatzteilpreisliste LifeStand 2016 - Österreich  * *
                                                  (Version 1, Änderungen und Druckfehler vorbehalten)

Verkaufspreis Verkaufspreis

exkl. MwSt inkl. MwSt
Art. Nummer Beschreibung 1 Beschreibung 2

VIS-CBHC5X30ZN HEXAGON SOCKET BUTTON HEAD SCREW M5x30 0,26€               0,31€               

VIS-CBHC6X10ZN HEXAGON SOCKET BUTTON button-headed screw M6x10 0,17€               0,20€               

VIS-CBHC6X16N button-headed screw M6x16 BLACK 0,25€               0,30€               

VIS-CBHC6X16ZN HEXAGON SOCKET BUTTON button-headed screw M6x16 0,25€               0,30€               

VIS-CBHC6X20ZN HEXAGON SOCKET BUTTON button-headed screw M6x20 0,20€               0,24€               

VIS-CBHC6X25ZN button-headed screw M6x25 M6x25 0,26€               0,31€               

VIS-CBHC6X30ZN HEXAGON SOCKET BUTTON button-headed screw M6x30 0,19€               0,23€               

VIS-CBHC6X35ZN button-headed screw M6x35 M6x35 0,26€               0,31€               

VIS-CBHC6X40ZN HEXAGON SOCKET BUTTON button-headed screw M6x40 0,25€               0,30€               

VIS-CBHC6X45ZN button-headed screw M6x45 M6x45 0,31€               0,37€               

VIS-CBHC6X8ZN Oval-headed screw M6x8 1,54€               1,85€               

VIS-CCHC6X80ZN BUTTON HEAD SCREW M6X80 0,32€               0,38€               

VIS-CHC10X20ZN HEX. SOCKET HEAD SCREW M10X20 0,44€               0,53€               

VIS-CHC10X30ZN Fillister-headed screwM10X30 M10X30 0,63€               0,76€               

VIS-CHC10X70ZN Fillister-headed screwM10x70 0,85€               1,02€               

VIS-CHC10X90ZN Fillister-headed screw M10x90 1,12€               1,34€               

VIS-CHC3X16ZN Fillister-headed screw M3X20 0,12€               0,14€               

VIS-CHC3X20ZN HEXAGON SOCKET HEAD CAP SCREW M3x20 0,19€               0,23€               

VIS-CHC4X20ZN HEXAGON SOCKET HEAD CAP SCREW M4x20 0,14€               0,17€               

VIS-CHC4X30ZN Fillister-headed screw M4x30 0,11€               0,13€               

VIS-CHC5X10ZN HEXAGON SOCKET HEAD CAP SCREW M5x10 0,07€               0,08€               

VIS-CHC5X12ZN HEXAGON SOCKET HEAD CAP SCREW M5x12 0,14€               0,17€               

VIS-CHC5X16ZN HEXAGON SOCKET HEAD CAP SCREW M5x16 0,14€               0,17€               

VIS-CHC5X20ZN HEXAGON SOCKET HEAD CAP SCREW M5x20 0,14€               0,17€               

VIS-CHC5X25ZN HEXAGON SOCKET HEAD CAP SCREW M5x25 0,14€               0,17€               

VIS-CHC5X40ZN Fillister-headed screw M5x40 0,23€               0,28€               

VIS-CHC5X8BR Fillister-headed screw M5x8 0,16€               0,19€               

VIS-CHC6X10ZN HEXAGON SOCKET HEAD CAP SCREW M6x10 0,17€               0,20€               

VIS-CHC6X12ZN Fillister-headed screw M6x12 0,12€               0,14€               

VIS-CHC6X16ZN HEXAGON SOCKET HEAD CAP SCREW M6x16 0,14€               0,17€               

VIS-CHC6X20ZN Fillister-headed screw M6x20 0,14€               0,17€               

VIS-CHC6X25ZN Fillister-headed screw M6x25 0,18€               0,22€               

VIS-CHC6X30ZN HEXAGON SOCKET HEAD CAP SCREW Fillister-headed screw M6x30 0,21€               0,25€               

VIS-CHC6X35ZN HEXAGON SOCKET HEAD CAP SCREW M6x35 0,19€               0,23€               

VIS-CHC6X40ZN HEXAGON SOCKET HEAD CAP SCREW M6x40 0,20€               0,24€               

VIS-CHC6X50ZN HEXAGON SOCKET HEAD CAP SCREW M6x50 0,29€               0,35€               

VIS-CHC6X55ZN Fillister-headed screw M6x55 0,31€               0,37€               

VIS-CHC8X16ZN Fillister-headed screw M8x16 0,27€               0,32€               

VIS-CHC8X20ZN HEXAGON SOCKET HEAD CAP SCREW M8x20 0,24€               0,29€               

VIS-CHC8X25ZN Fillister-headed screw M8x25 0,27€               0,32€               

VIS-CHC8X30ZN Fillister-headed screw M8x30 0,23€               0,28€               

VIS-CHC8X40ZN HEXAGON SOCKET HEAD CAP SCREW M8X40 FULLY THREADED 0,25€               0,30€               

VIS-CHC8X45ZN Fillister-headed screw M8x45 0,39€               0,47€               

VIS-CHC8X50ZN Hex socket head screw M8X50 fully threaded 2,85€               3,42€               

VIS-CHC8X55ZN Fillister-headed screw M8x55 0,48€               0,58€               

VIS-CHC8X60ZN Fillister-headed screw M8x60 0,61€               0,73€               

VIS-CHC8X80ZN Fillister-headed screw M8x80 0,80€               0,96€               

VIS-FHC4X12ZN Countesunk-head screwM4x12 0,12€               0,14€               

VIS-FHC4X8ZN Countesunk-head screwM4x8 0,10€               0,12€               

VIS-FHC5X10ZN Black Countsnk-head screw5X10 0,44€               0,53€               

VIS-FHC5X12ZN HEXAGON SOCKET COUNTERSUNK HEAD SCREW M5x12 0,14€               0,17€               

VIS-FHC5X16ZN Countesunk-head screw M5x16 0,11€               0,13€               

VIS-FHC5X25ZN Countesunk-head screw M5x25 0,17€               0,20€               

VIS-FHC6X10ZN Countesunk-head screw M6x10 0,23€               0,28€               

VIS-FHC6X12ZN Countesunk-head screw M6x12 0,16€               0,19€               

VIS-FHC6X16ZN Countesunk-head screw M6x16 0,14€               0,17€               

VIS-FHC6X20ZN Countesunk-head screw M6x20 0,15€               0,18€               

VIS-FHC6X35ZN Countesunk-head screw M6x35 0,28€               0,34€               

VIS-FHC6X45ZN Countesunk-head screw M6x45 0,46€               0,55€               

VIS-FHC8X30ZN Countesunk-head screw M8x30 0,38€               0,46€               

VIS-H10X80ZN Hexagon-head screwM10x80 1,15€               1,38€               

VIS-H12X40ZN Hexagon-head screw M12x40 0,69€               0,83€               

VIS-H6X20ZN Hexagon-head screw M6x20 0,14€               0,17€               

VIS-H8X12ZN Hexagon-head screw M8x12 0,59€               0,71€               

VIS-H8X20ZN Hexagon-head screwM8x20 0,24€               0,29€               

VIS-H8X25ZN Hexagon-head screw M8x25 0,26€               0,31€               

VIS-H8X45ZN Hexagon-head screw M8x45 0,50€               0,60€               

VIS-HC6X20ZN HEXAGON SOCKET SET SCREW M6x20 0,32€               0,38€               

VIS-HC6X30ZN HEXAGON SOCKET SET SCREW M6x30 0,57€               0,68€               

VIS-HC8X10ZN Hexagon socket set screw M8x10 0,52€               0,62€               

VIS-HC8X25ZN Grub screw M8x25 1,06€               1,27€               

VIS-HC8X30ZN Hexagon socket set screw M8x30 1,28€               1,54€               

Seite 29 von 29


